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email: Istein@stanford.edu
homepage: http://www.lukestein.com
Office Hours: Wednesdays, 3:15-5:05 in Landau Economics room 350

Sections: Fridays, 12:15-2:05 in building 240 room 110

A taxonomy of economic models

. Static Focus of Microeconomics core.

Dynamic Focus of Macroeconomics core.

. Deterministic e.g., v1 = 6,22 = 4; ; = x;—1 + 1 with 2o = 0 (a recursive sequence defined by a

difference equation; if the subscripts index time, we also call this a dynamical system). Nir’s class.

Stochastic e.g., z; 1o {H, T} with probability % each; T; = 141 + & with & 1o N(0,1) and 29 =0
(a stochastic recursive sequence). Manuel’s class.

. Finite horizon (discrete) Use Kuhn-Tucker (i.e., Lagrangians).

Infinite horizon (discrete) as Sequence Problem: Kuhn-Tucker; as Functional Equation: dynamic
programming.

Continuous time Use Hamiltonians.

. Discrete state/choice spaces Good for computer.

Continuous spaces Good for mathematical analysis.

. Steady state

Explicit dynamics Use linearization (Taylor approximation) and “diagonalization” (eigenvalue de-
composition) or phase diagrams.

. One “agent” Either a true single agent (partial equilibrium problems) or a social planner.

Many agents interacting through markets; competitive equilibrium either in period-by-period (i.e.,
sequential) markets or in one big market at ¢t = 0 (Arrow-Debreu).


mailto:lstein@stanford.edu
http://www.lukestein.com

3 Some thoughts about utility functions

Consider our canonical utility function (for problems with discrete time):

T

U({Ct}?:o) = Z Blu(er),

t=0

where T may be infinite. The function wu(-) is called the felicity or instantaneous utility function. This
utility function has several important properties, including:

Time separability The period utility at time ¢t only depends on consumption at time ¢. For example, there
is no habit persistence.

Exponential discounting S constant and 8 < 1 mean the agent values consumption today more than
consumption tomorrow, with a constant “strength of preference” for consumption sooner vs. later.

Stationarity The felicity function is time invariant. Thus when T = oo, the utility function evaluated over
future consumption looks the same from any point in the future.

Most of the time we use one of a small number of felicity functions:

o u(x)=x".

1170

o u(x) = T —1. this represents the same preferences as the previous example.
—0

e u(x) = log(x); the previous example approaches log utility as o 7 1.
These felicity functions give rise to additional useful properties of U(+), including:
Strict monotonicity U(:) is strictly increasing in ¢; for all .
Continuity Mathematically convenient.
Twice continuous differentiability Mathematically convenient.
Strict concavity 9?U/dc? < 0 for all ¢, corresponding to decreasing marginal utility.

Inada conditions lim.,\ 0 0U/0c; = 400 and lim,, 74 OU/Oc; = 0 for all ¢, assuring that optimal ¢; €
(0, +00) for all ¢.!

Homotheticity Meaning that {c;}: 77 {¢;:}¢ if and only if {Aei}e 72 {Aé}+, implying that the units in which
consumption are measured don’t matter (in many models).

Constant relative risk aversion (and elasticity of substitution). The Arrow-Pratt coefficient of relative
risk aversion —c;u”(¢;)/u’(c¢), and the intertemporal elasticity of substitution e, ., ,,1/r do not depend
ont, ¢y, Or Cpq1q.

In particular, we will basically always assume the first four conditions, which help ensure that we can
solve optimization problems using the Kuhn-Tucker (i.e., Lagrangian) algorithm.
4 Some math reminders

Including these here is a bit ad hoc, but the following are three mathematical concepts you need to be familiar
with.

n all, there are six Inada conditions. In addition to the two listed limit conditions, they are (1) continuous differentiability,
(2) strict monotonicity, (3) strict concavity, and (4) U(0) = 0.



4.1 Taylor approximation

Consider a differentiable real-valued function on (some subset of) Euclidean space, f: R™ — R. The function
can be approximated in the region around some arbitrary point y € R™ by its tangent hyperplane.
If f: R — R, this approximation takes the form

f@) =~ fy)+ )@ —y).
If f: R™ — R, this approximation takes the form

where - is the vector dot product operator.

4.2 Concave functions

Gui Woolston has an excellent note on this subject, on which this section is based.
The following are all necessary and sufficient (i.e., equivalent) conditions for concavity of a twice-
differentiable (real-to-real) function f: R — R: for all x,y € R,

1. “Mixtures” give higher values than “extremes”: for all a € [0, 1],
flaz + (1 —a)y) > af(z) + (1 —a)f(y);
2. f/(x) < 0;
3. 2 >y if and only if f'(z) < f'(y), which can also be stated compactly as W <Oor (y—
) (f'(y) = f'(x)) < 0; and
4. f(-) lies below its first-order Taylor approximation:

fl@) < fly)+ f'y)(z—y)

Taylor approx. at  about y

Also, for all concave functions (not just differentiable ones), a local maximum is a global maximum. And
a concave function must be continuous on the interior of its domain (although it need not be continuous on
the boundaries).

4.3 The envelope theorem

Envelope theorems relate the derivative of a value functions to the derivative of the objective function. Here
is a simple envelope theorem for unconstrained optimization:

v(g) = max f(z,q)

dv 9 ) Oz,
CTZ = a—i;(x*(Q),Q) + afi(l‘*(qm)' 52
—
=0 by FOC
of

The fact that the derivative of the envelope equals the derivative of the objective function holding the
choice variable fixed is illustrated for v(z) = max, —5(z — 2)? — 2(z — 1):
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As an exercise, use the first-order and envelope conditions for the functional equation form of the NCGM
(given in equation 8) to derive its intereuler. The derivation should really include an argument that the
optimal k' is interior to the feasible set.

A more complete envelope theorem for constrained optimization is:

Theorem 1. Consider a constrained optimization problem v(6) = max, f(x,0) such that g1 (z,0) >0, .
gk (x,0) > 0.
Comparative statics on the value function are given by:

ey

K

og| oL
ﬁ}}k 20;|, ~ 6,

v of
06, — 06, |,

T

(for Lagrangian L(x,0,\) = f(x,0) + >, Mgk (x,0)) for all § such that the set of binding constraints does
not change in an open neighborhood.

Roughly, this states that the derivative of the value function is the derivative of the Lagrangian.

Proof. The proof is given for a single constraint (but is similar for K constraints): v(z,0) = max, f(x,8)
such that g(z,0) > 0.
Lagrangian L(z,0) = f(x,0) + Ag(x,0) gives FOC

of

ox

of
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where the notation -|, means “evaluated at (x.(6),) for some 6.”
If g(x*(e), 9) = 0, take the derivative in 6 of this equality condition to get
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Note that, ‘g—g = % + )\%. Evaluating at (z.(0), ) gives
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)
If A =0, this gives that ‘g—g|* = ‘g—g|*; if A > 0, complementary slackness ensures g(x*(H), 9) = 0 so we can

apply equation 2. In either case, we get that
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Applying the chain rule to v(z,0) = f(z.(6),60) and evaluating at (z.(6),6) gives

oo _ o ow| , 0r
081, ox|, 09|, 90|,
dg| Oz, af
T oz, 00|, 0],
oL
= 25 R
where the last two equalities obtain by equations 1 and 3, respectively. O

5 Introduction to sequence problems

5.1 Two-period saving problem in partial equilibrium

In the first period, you can buy a risk free bonds which return Ra in the second period. Income y; and o
are available in the first and second periods, respectively. We get intereuler

u'(y1 — a) = BRY (y2 + Ra),
— —_—

which can be interpreted as follows: the left-hand side is the marginal benefit of consuming an extra unit
today, the right-hand side is the marginal cost of consuming an extra unit today, comprising

1. R: Conversion from a unit of consumption today to units of consumption tomorrow,
2. u/(eq): Conversion from units of consumption tomorrow to felicits tomorrow,
3. B: Conversion from felicits tomorrow to utils.

Things in other models can interfere with an intereuler like this holding; e.g.,

1. Incomplete markets, such as if R were stochastic;
2. Non-time-separable utility;

3. Budget/borrowing constraints including irreversible investment might prevent the agent from
borrowing or saving all he would like to, resulting in w'(c1) 2 SR/ (ca).

5.2 Neoclassical Growth Model

The canonical NCGM can be written as

oo

max Z Bu(ct)

{leeker) 220 15
s.t. Vt7 ct + kt+1 S F(kt) + (1 — (S)kt,
=f(ke)
¢ty ki1 > 0;

ko given.




It can also be written many other ways; e.g., in terms of investment:

o

max Z Bru(cy)

{lenie) 3320 5

s.t. \V/t, ¢t + ’L't S F(kt),

kt+1 == (1 - 5)]615 + it7

e k1 > 0;
ko given.

There is an art to choosing the simplest formulation. We can turn some inequality constraints into equality
constraints with simple arguments (e.g., monotone utility means no consumption will be “thrown away”),
and Inada conditions (together with a no-free-lunch production function) can ensure that non-negativity

constraints will never bind. Further, in deterministic problems, it is usually best to let the choice space be
the state space; here, that means eliminating consumption and investment:

oo

{kgl?}fio ; 5tu(f(kt) - kt+1) (6)

s.t. kg given.
The resulting intereulers
u' (f(ke) = k1) = BF (kep)u' (f(keg1) — kig2)
—— ——
Ct Ct+1

have an interpretation almost identical to that of the two-period saving problem, with f’(k;y1) playing the
role of R: the marginal rate of transformation between c¢;41 and ¢;.

So do these intereulers give us a solution to the original problem? No. They give a second-order difference
equation (in k;) with only one additional condition: the initial condition that kg is given. It turns out we
need another condition, called the transversality condition (TVC), which is sufficient, together with the
intereulers, for a solution (see SL Theorem 4.15):

lim ,Btu’(ct)f'(kt)k‘t =0.
t—o0
The intuition for the TVC is that if you consume too little and save too much, k; and u'(¢;) will grow so
fast as to overwhelm the shrinking 8% and f’(k;). The intuition for the terms is:
1. k:: Amount of capital,

2. f'(kt): Conversion from amount of capital to amount of consumption (at marginal—mot average—
product rate),

3. u/(ct): Conversion from amount of consumption to felicits at time ¢,
4. %: Conversion from felicits at time ¢ to utils.

A final observation about the steady state of the NCGM. At a steady state ¢; = ci+1 = ¢, and ki1 = ki,
so the intereuler reduces to f/(k.) =1/8.
6 Balanced growth practice question

This question comes from the Economics 211 midterm examination in 2006. Its content is straightforward,
but successfully completing it requires diligent care—it is very easy to get bogged down.



Question

Consider an economy with a measure one number of identical households. Preferences are given by:
o0 —
ZC}”
1-o0o’
0

Households have L units of labor, which they supply inelastically to firms that produce a consumption
good using technology:

Cy = (uKy)* L™,

where K; is physical capital and u; € [0, 1] is the fraction of the capital stock used to produce consumption
goods.
Investment goods are produced according to:

It = A(]. - Ut)Kt,

where 1 — u; represents the share of the capital stock used to produce capital goods.
The stock of capital evolves according to:

Kiy1=(1-0)K; + 1.
1. Write the problem of a Social Planner and find the Euler equation.

2. For the balanced growth path of this economy, find expressions for the growth rate of K;, C; and I; in
terms of the balanced growth path level of u; = u*.

3. Find the level of u; along the balanced growth path.

Solution

1. Write the problem of a Social Planner and find the Fuler equation.

As we have discussed, there are several ways to write the same problem. Although it is tempting to
substitute to get a problem written only in terms of capital, it turns out that here (and in many other
problems with lots of choice variables), the notation can wind up getting very nasty. I started down
that route, but returned to including more Lagrange multipliers instead. The social planner maximizes

o

1
t
s.t.
{kt+1 (t,ut}t ZB 1—0

q=wwﬁawn
kt+1 = (1 -4 + A— A’U,t)kt, Vt,
Ut € [0, 1], Vt.

With an appeal to an Inada condition on u(-) and the fact that vy =0 = ¢; = 0, we will not worry
about u; > 0 binding. Without argument, we will also ignore u; < 1; this could actually be a problem.

The Lagrangian is

1—0o

L= Z[ e +/\t(U?kaL1 “ =) + (1= 0+ A= Augky — ki)

Taking first-order conditions, we get

= B¢, 7;



t l1—0o
Brac
t__. and

A aflkaLl—a — Ak —
tO Uy t Ut ARy == [t w Ak

:Ct/ut
e = A1 ufﬁ%fﬂLFQ +purp1(l—04+ A— Auy) =
—_——

:Ct+1/ut

VLN s i

(1 75+A7Aut+1)

up Ak kit1 Upr1 Ak
l1—0o 1—0o 1—0o
¢ BAu 10T Bt
— + -6+ A— Au
uky U1kt Up 1kl ( +1)
1-0
c urk
(Ct) =B a4+ AR
141 Ut4+1Rt+1

Note there are other possible simplifications of this intereuler, based on the fact that ¢;/ci1 =
k «
(utr;k2+1) :
. For the balanced growth path of this economy, find expressions for the growth rate of Ky, Cy and I; in
terms of the balanced growth path level of uy = u*.
Note that the production technology for the investment good is i; oc Ak, which violates Inada conditions:
iy
lim — = A(1 — 0.
A oy, ~ Al T w £
This can give us endogenous growth, since decreasing marginal returns never kick in.

Along the balanced growth path, the law of motion for capital gives the growth rate of capital:

’)/kEk't_t,_l/k't:l—(s—FA—Au*

The investment goods production technology gives us the growth rate of investment:

e AQ —u)ken
"= it - A(]. — U*)kt o

The consumption goods production technology gives us the growth rate of consumption:

_ g1 (ukeq)* L (k‘t+1>a o
= =Yk -

€= Ct a (U*kt)aLlia kt

. Find the level of u; along the balanced growth path.

Plugging the growth rates we just found, along with uw; = us41 = u. into our intereuler gives
7= B =0+ Ayt
(1 -6+ A—Au,)t 72079 = (1 - § + A)

1—5— [B(1— 6+ A)] o
. .

1+

U

10



7 Introduction to dynamic programming
We consider “transforming” a sequence problem of the form given in equations 4—6 into a functional equation
V (k) = maxu(c) + BV (*)]
st. e+ K < f(k), (7)
c, k' >0.

As in the SP, we can recast the choice space to be the state space (also arguing that the inequality constraints

do not bind):
V(k)= [u(f(k) —K') + BV (K] (8)

= max
k'€(0,f(k))

While the solution to the SP (as written in equation 4) is a joint sequence {(ct, kt41)}52,, the solution to
the FE is a value function v(k) and a policy function y* = g(k). Therefore in order to find a solution to the
FE problem we need to understand a few things, namely:

e In what space do functions “live”?
e How do we define distance in this space? Convergence?
Once we know how to solve FEs, we have a few remaining questions.

e Is the solution unique? If so, we expect the solution to also solve the SP (this is ensured by the Principle
of Optimality, but is not the direction we are interested in.)

o If there are multiple solutions to the FE, which one(s) solve(s) the SP?

Why do we want to solve the FE? We are shifting the problem from studying an infinite sequence to
a function. Is this really easier? Analytically the answer is not clear; there are properties of the solution
that are proved more easily using the SP formulation than the FE one. However, there is at least one clear
advantage to a dynamic programming approach: many problems of interest to macroeconomists cannot be
solved analytically. When we need to find numerical solutions, the FE formulation makes things easier.?

7.1 Where do functions live? A Metric space!

Definition 2. A real vector space is a set X, with elements x € X, together with two operations, addition
and scalar multiplication,® satisfying the following azioms for any z,y,z € X and o, B € R:
Axioms for addition

1. x4y € X (closure under addition),

2. x+y=y+x (commutativity),

3. (x+y)+2z=x+ (y+2) (associativity),

4. there is a 0 € X such that z +0 = (identity existence), and
5. there is —x € X such that x + (—z) = 0 (inverse existence).

Axioms for scalar multiplication

2This may not be intuitive. The solution to the SP is a vector in R, while the solution to the latter problem is a function
V: R — R. The dimensionality of the former object is lower (countably infinite vs. uncountably so) but the function can much
more easily be approximated. We do this by somehow restricting its domain, and then determining its value on a discrete grid of
points.

3 Actually there are two operations: left scalar multiplication and right scalar multiplication (with an additional requirement
that these two give the same result).

11



. a-x € X (closure under scalar multiplication),

. a-x =1z« (commutativity),

1
2
3. (- B)-z=a-(8-x) (associativity),
4. 1-x =2z (identity existence), and

5.0-z=0.

Distributive laws

I.a-(z+y)=a-z+a-y, and

2. (a+pP)-z=a-z+ - x.

Examples of real vector spaces include:

e Euclidean spaces (R"),

e The set of real-valued functions f: [a,b] — R, and

e The set of continuous (real-to-real) functions f: [a,b] — R;

e The set of continuous, bounded (real-to-real) functions f: [a,b] — R; we refer to this set as Cla, b].

Definition 3. A normed vector space is a vector space S, together with a norm |-||: S — R, such that,
forallx,y € S and o € R:

1. ||lz|| = 0 if and only if x =0,
2. |la -zl = |af - [|lz]|, and
3. Ml +yll < ll=ll + llyll-

As an exercise, you can prove that these assumptions ensure that ||z|| > 0.
Examples of normed vector spaces include:

e On R, absolute values ||z = |z[;

e On R, the Euclidean norm |jz| = \/>_;_, z%;

=1 1)
e On R", the Manhattan norm ||z|| = 31", |z;[;

e On R", the sup norm ||z = sup;cyy,.,3|zi| (a proof that this is a norm is given in the appendix to
this section); and

e On Cla,b], the sup norm || f|| = sup,e(q y|f ()]

If we have a normed vector space, we can also define a metric space, which has a “metric” (also known
as a “distance”) function p: S x S — R defined by p(x,y) = ||z — y||-

It may be useful for each of the example norms given above to sketch a ball: the locus of points in S less
than distance r away from some element x € S

Although every normed vector space can give rise to a metric space, not every metric space can be
generated in this way. The general definition of a metric space follows; it is not hard to prove that the
properties of a norm imply that p(z,y) = ||« — y|| satisfies the properties required of a metric. (A proof is
given in the appendix to this section.)

Definition 4. A metric space is a set S, together with a metric p : S xS — R, such that, for all x,y,z € S:

1. p(z,y) =0 if and only if x =y (which implies, with the later axioms, that the distance between two
distinct elements is strictly positive),

2. p(z,y) = p(y,z) (symmetry), and
3. p(z,2z) < p(x,y) + p(y, 2) (triangle inequality).

12



7.2 Convergence in metric spaces

Definition 5. Let (S, p) be a metric space and {z,} -, be a sequence in S. We say that {z,} converges
to x € S, or that the sequence has limit x if

Ve > 0,3N(e) such that n > N(e) = p(x,,x) < €.

That is, a sequence is convergent if its terms get closer and closer to some point z, to the extent that,
given an arbitrary small number ¢ > 0, we can always find some positive integer N(¢) such that all terms of
the sequence beyond N () will be no further than € from x.

Checking directly whether a sequence convergences requires knowing its limit. Most of the time, we don’t
know the limit. The definition of Cauchy sequences will help us with that.

Definition 6. A sequence {x,} -, in a metric space (S, p) is a Cauchy sequence if
Ve > 0,3N(e) such that Ym,n > N(g), p(Tm, Tn) < €.

It’s clear that any converging sequence is also a Cauchy sequence, but the converse is not true: not every
Cauchy sequence converges.? However there is a particular class of metric spaces, called complete metric
spaces in which this converse does hold.

Definition 7. A metric space (S, p) is complete if every Cauchy sequence contained in S converges to some
point in S.

Checking completeness is very difficult. We will take it as given that the real line R with the metric
p(z,y) = |z — y| is a complete metric space.

Theorem 8. Let X C R™, and let C(X) be the set of bounded, continuous functions f: X — R with the sup
norm, || f|| = sup,ex|f(z)|. Then C(X) is a complete metric space.

A proof is given in the appendix to this section.

7.3 How will convergence help us?

Consider a metric space 5, p and a function f: S — S. Define a sequence as follows, for some given sy € S:

S0, f(SO)vf(f(sO)>; e

Clearly, this sequence can also be written as a recursive sequence {s,}52, defined by the difference equation
st+1 = f(s¢) and the initial condition.

Does this sequence converge? It depends on f(-) and sg. For example, consider the sequence defined as
above for

e S=R, p(x,y) = |z —y|, and f(s) = s+ 1: the sequence diverges for any s;

e S=R, p(z,y) = |v —yl|, and f(s) = s?: the sequence converges to 1 for sy = £1, converges to 0 for
s0 € (—1,1), and diverges otherwise;

e S=Ry, p(x,y) = |z —y|, and f(s) = /s: the sequence converges for any s¢ (to 0 if s =0 and to 1
otherwise).

4Consider the metric space S = (0,1] with the metric derived from the absolute value norm p(z,y) = | — y|. (This is a
metric space, even though S does not form a vector space with regular addition and multiplication.) The Cauchy sequence
1, %, %, ... lies in S but does not converge in S.
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Drawing pictures is useful here: graph f(-) and the 45-degree line on the same axes.”®

Here’s the important thing: suppose that for some sg the sequence converges to s. Then as long as f
is continuous, s is a fixed point of f; i.e., f(s) = s. Believe it or not, this will help us solve functional
equations.

Recall the FE of equation 8:

Vi(k)= bl [u(f(k) — k') + BV (k)] for all k.

Just as our functions f(-) above mapped real numbers to real numbers, we consider an operator 7'(-) that
maps functions to functions. In particular, let

T =
(v) v

?L;%k)) [u(f(k) — k') + Bu(k)]

for any function v. This may take a bit to get your head around, but note that 7: R — R and T'(v): R — R.
Given this definition of T', we can write our functional equation compactly as V (k) = [T'(V)](k) for all k, or
even more simply as V = T(V).

That means that V', the solution to our function equation, is a fixed point of the operator T. How can we
find such a thing? Our earlier intuition suggests the following strategy:

1. Show the operator T is continuous (we will use this later);
2. Pick some initial function vg;
3. Consider the sequence {v,}>2 , defined by v,,11 = T(v,) and the initial condition;

4. Show that this sequence converges under some distance over function spaces (we use that induced by
the sup norm);

5. Find the thing V' to which the sequence converges;
6. Note that continuity of T implies V is a fixed point of 7" and hence solves the functional equation.

How do we do this? If we can show that T" is a contraction (perhaps using Blackwell’s Theorem) then we
are assured continuity, that the resulting sequence is Cauchy (and hence converges by the completeness of
the metric space), and that it converges to the unique fixed point of T' from any starting vy. We will often
have to use numerical methods to actually find the convergence point V', however.

7.4 Appendix: Additional proofs
Proofs of several results covered in this section follow.
Theorem 9. If S and ||-|| are a normed vector space, then S and p(z,y) = ||x — y|| are a metric space.

Proof. We must show that only identical elements have zero distance, that the distance function is symmetric,
and that it satisfies the triangle inequality.

1. Let S be the vector space, for z,y € S let z = (x —y) € S (we can derive this from the axioms on
vector spaces). Then p(z,y) = ||z — y|| = ||z|| > 0 by property (1) of the norm. Notice also that we can
say that z = 6 if and only if z = y, which implies that p(z,y) = 0 if and only if = = y.

2. Againlet z = (z —y) € Sand —z = —(x —y) = (y—z) € S. Then ||z —y|| = ||z]| and ||y — z|| =
=zl = [=1]l|z[| = [|z[|. Hence [z -y = lly — z|.

5 Another good exercise is to consider over what subset of R (if any) these functions are contractions. You can check for a set
S C R (make sure to confirm that f: S — S) using intuition and/or the definition of a contractions.
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3. We want to show that p(x, 2) < p(z,y) + p(y, z) is true with our metric, i.e. that ||z — 2| < ||z — y|| +

ly — =l

Againlet t =z —ye€eSandw=y—2z€S. Then ||z —z||=|lz—y+y—=z| =t +w|]| < ||+ [w] <

=yl + lly — =] O
Theorem 10. The sup norm |[z|| = sup,cq1, . ,y|@i| over R"™ is a norm.

Proof. We must show that only the zero element has zero norm, that scalar multiplication can be taken
outside the norm, and that it satisfies a triangle inequality.

1. ||lz|| = sup;{|zi],¢ = 1,...,n} = |z;| > 0 for some 1 < j < n.
2. |lec- 2| = supiflac- @il ,i = 1, ..., n} = sup{[al - [z:],i = 1, ..., n} = [a -sup{|i|,i = 1,...,n} = |e] - [l]].

3. ||z + y|| = sup;{|zi + vil,i = 1,...,n} Call the maximal elements x, and y,.. Then: sup,{|z; + yi|,7 =
Lion} = [ze + ] <] + |yu| <sup{lail,i = 1,0} +sup{lyel, i = 1, ...n} = [l + [ly]l- H

Theorem 11. Let X CR"”, and let C(X) be the set of bounded continuous functions [ : X — R with the
sup norm, ||f|| = supzex|f(x)]. Then C(X) is a complete metric space.

Proof. We take as given that C'(X) with the sup norm metric is a metric space. Hence we must show that if
{fn} is a Cauchy sequence, there exists f € C(X) such that

for any £ > 0, there exists N(e) such that || f,, — f]| < e for all n > N(e).
There are three steps:
1. find f;
2. show that {f,} converges to f in the sup norm;
3. show that f € C(X), i.e., f is continuous and bounded.
So let’s start:

1. We want to find the candidate function f. In what follows, we will indicate a general element of X as x
and a particular element as zq.

Consider a Cauchy sequence { f,}. Fix 29 € X, then {f,(z¢)} defines a sequence of real numbers. Let’s
focus on this sequence of real numbers (notice that now we are talking about something different than
the Cauchy sequence of functions { f,}): by the definition of sup and of sup norm we can say that:

‘fn(xO) - fm(xO)’ < jgg‘fn(m) - fm(-r)’ = an - fm”

But then we know that the sequence { f,,} is Cauchy by hypothesis (this time the sequence of functions),
hence || fr, — fm|| < e. But then:

|fn(170) - fm(x0)| < Sup|fn(x) - fm(x)| = ||fn - me <e.
reX

Thus the sequence of real numbers {f,(zg)} is also a Cauchy sequence, and since R is a complete
metric space, it will converge to some limit point f(zo). Therefore we now have our candidate function
f: X —>R
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2. We want to show that the sequence of functions {f,} converges to f in the sup norm, i.e. that
lfn—fll = 0asn— oo.

Fix an arbitrary € > 0 and choose N(¢) so that, n,m > N(e) implies || fn, — fi|l < €/2 (we know that
we can do this since {f,,} is Cauchy).

Now, for any fixed arbitrary o € X and all m > n > N(e),

|fn($0) - f($0)| < ‘fn(xo) - fm($0)| + ’fm(xO) - f(fﬂo)| (by triangle inequality)
<|fn = fmll + |fm($0) - f(xo)’ (by def of sup and sup norm)
< e/2+ | fm(w0) = f(z0)] (by {fn} being Cauchy).

Since {fm(x0)} converges to f(xo) (this is how we constructed f(z)), then we can choose m for each
fixed xg € X so that |fm(z0) — f(z0)| < /2. Hence we have:

| fa(@o) — f(@0)| <e.

But since the choice of 2y was arbitrary, this will hold for all # € X, in particular for sup,¢ x|fn(z) —
f(@)] = |lfn — fll- And since also the choice of € was arbitrary, then we have obtained that for any
e>0, ||fn— fll <e, forall n > N(e).

3. Now we want to show that f € C'(X), i.e. that f is bounded and countinuous.

f is bounded by construction. To prove that f is continuous, we need to show that for every ¢ > 0
and every z € X, there exists § > 0 such that |f(z) — f(y)| < e if ||z — y||lg < 0, where ||z —y|g =

V> % |z — yi|™ is the Euclidean norm on R”™.

Fix arbitrary € > 0 and z9 € X. Then choose k such that || f — fx|| < /3 (we can do this since {f,}
converges to f in the sup norm). Then notice that f; is continuous (by hypothesis the sequence is in
C(X), hence it continuous. Therefore there exists § such that:

llzo — yllg < & implies |fk(:Eo) — fk(y)’ <e/3.

Then, almost as we did before:

’f(fo) - f(y)’ < ’f(xo) - fk(yo)’ + ‘fk(xo) - fk(y)‘ + ’fk(y) - f(y)‘ (by triangle inequality)
<2 |If = fll + | f(@o) — fr(yo)] (by def of sup and sup norm)
<e (by continuity of f).

But since the choice of ¢ and xy was arbitrary, this will hold generally, so we have proved our
statement. O

8 Algorithms for solving dynamic programming problems
There are a several different algorithms for solving dynamic programming problems like the canonical

V(k) = max [u(k,k')+ BV (K)].

The two algorithms you are expected to “know” for Economics 210 are “guess and verify” and value (function)
iteration. They are discussed below, along with a third algorithm: policy (function) iteration.
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8.1 “Guess and verify”
This is an analytical algorithm; the two following algorithms will be numerical.

1. Develop an initial “guess” for the value function, V4(-), with an appropriately parameterized functional
form.

2. Iterate over V; using

Vigr(k) = o [u(k, k") + BVi(K)]

until V; and V;;; have the same functional form.
3. Equate the parameters of V; and V; ;1 so that the two functions are equal; this is a solution to the FE.
This will only work for some w and I', and perhaps only with a very good guess for Vy. If we are lucky,

Vo(k) = 0 will work.

8.2 Value iteration

1. Develop an initial “guess” for the value function, Vj(-). If the space is finite and discrete, this guess can
be represented by a vector of Vj evaluated at all the values k can take on.

2. Iterate over V; using
Vigr(k) = L [u(k, k") + BVi(K")]
until V; and V4, are sufficiently close to each other (typically measured by their sup norm distance).

3. Conclude that V;y; is an approximate solution to the FE.

For some u and I', we may be able to use the contraction mapping theorem to ensure that this process
converges for any initial guess, Vj.

8.3 Policy iteration

This algorithm works explicitly with the optimal policy function

g(k) = argmax [U(ka kl) + ﬁV(k/)] )
k’el (k)

where V(+) is the solution to the FE.

1. Develop an initial “guess” for the policy function, go(-). If the space is finite and discrete, this guess
can be represented by a vector of gy evaluated at all the values k£ can take on.

2. Iterate over g; as follows:

e Form V; from g; by
Vi(k) = u(k, gi(k)) + Bu(gi(k), gi(9:(k))) + B>u(gi(gi(k)), 9i(gi (9: (K)))) + - -
= Bu(gl(k), gl (k).
t=0

One way to implement this is to approximate V; using the first T" terms of this sum for some large
TS

6The policy function can be expressed as a transition matrix G; (containing all zeros, except for a single one in each row), in
which case V; =3, ﬁtGﬁu for an appropriately formed vector u.
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e Form g;y; from V; by
gisa (k) = argmax[u(k, K') + BVi(K")].
k' €T(k)
Continue iterating until g; and g;41 are sufficiently close to each other (typically measured by their sup
norm distance).

3. Conclude that V;y; is an approximate solution to the FE.

As with value iteration, for some u and I" we may be able to use the contraction mapping theorem to
ensure that this process converges for any initial guess, gq.

The contraction mapping theorem can be used to ensure that this process converges for any initial guess.
This may seem like a more complex algorithm than value iteration, but can in fact be easier to implement.

8.4 Continuous spaces

Solving models with continuous spaces—like all the models we have seen—with numerical methods will
typically rely on “discretizing” the state space in some way; that is, approximating the model with one in
which the state and choice variables can only take on a finite number of values.

The first important thing is to be smart about setting up this “grid” of discrete values. It often makes
sense to choose values whose spacing is logarithmic rather than linear; this allows the grid to be finer in areas
where the value or policy function has more curvature.

Another thing to consider is where to discretize. For example, let K be the grid of values that we restrict
k to taking on. A naive approach (which you will see taken in the solutions for your first problem set) might
conduct value iteration by finding

. _ ’ 11
Viv1 (k) klerlg(%(ﬂK [u(k, k") + pVi(k )}

for each k € K by exhaustively considering all the ¥’ € T'(k) N K to find the maximizer. A more sophisticated
approach still only considers k € K, but would allow k' to take on any value. This suggests attempting to
iterate with

?

Vis1(k) = max [u(k, k") + BV;(K)].

k' €D(k)

This proposed approach raises two questions. First, exhaustive search of a continuous choice set is not feasible;
how do we solve the maximization when k' can take on a continuum of values? Fortunately, numerical
computing tools (e.g., Matlab, Scilab, SciPy) offer many built-in optimization algorithms. Secondly, how
can we even evaluate the maximand for k' ¢ K when V; was only defined for values in the grid? There are
a number of ways of doing this; the simplest (which also has attractive theoretical properties) is simply to
linearly interpolate between adjacent elements of K. Thus the algorithm, which is called fitted value iteration,
actually iterates using

Vit1(k) = ek [u(k, k") + BV;(K")],

where V; means the function that linearly interpolates V; between grid points. There is also a related algorithm
called fitted policy iteration.

9 From the steady state towards explicit dynamics

Once we have “solved” a deterministic infinite-horizon dynamic model, typically the first thing we will do is
look to characterize its steady state. This is not hard: just find a recursive formulation of the solution (i.e.,
one or more difference equations pinning it down), and then substitute, for each time-varying value z,

Ty "':mtflzmt:xt+1:”'
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Typically, the requisite recursive formulation will come from the intereuler(s).
Once we have characterized a steady state, we may

e Evaluate comparative statics of the steady state with regard to exogenous parameters,
e Draw conclusions about dynamics following small deviations from the steady state, or
e Explicitly characterize the system’s dynamics.

How does this last activity relate to identifying a steady state? In a sense, it does not. In fact, we have already
been investigating transition dynamics without solving for a steady state (for example, solving for policy
functions by “guessing and verifying” or using numerical algorithms). A different approach recognizes that a
major challenge in analytically investigating dynamics comes from the fact that they are nonlinear—consider
for example the second-order difference equation

W (f(ke) = ki) = BF (key)u' (f(kegr) — keg2)

for arbitrary u and f. One way of making this system more tractable is to consider instead a linear
approximation of this difference equation instead:

kiyo = ag + arkiyr + anky

for some appropriately chosen ag, a1, s € R. We generally conduct such approximations about the steady
state (which is usually the only point on g(-) we can find analytically).

There will be more talk of approximating dynamic systems soon. When we get there, several mathematical
tools will be essential.

9.1 Taylor approximation (a.k.a. “linearization”)

Consider a differentiable real-valued function on (some subset of) Euclidean space, g: R™ — R. The function
can be approximated in the region around some arbitrary point z, € R™ by its tangent hyperplane.
If g: R — R, this approximation takes the form”

g9(x) = g(x.) + ¢'(2.)(z — ).

If a system evolves according to x; = g(z:—1), we get a “linearized” system that evolves according to
2y = g(xy) + g (x4)(xi—1 — ). If 2, is the system’s steady state, . = g(x.); at this point, the approximation
is perfect.

The slope ¢'(x,) tells us about the speed of convergence of the linearized system: if ¢’(z,) = 0, then
the approximation tells us that z; ~ g(x.) = z, for all x;_1; convergence is instantaneous. In contrast, if
¢'(z.) =1, then the approximation tells us that x; = g(z.) + x¢4—1 — s = 24— for all 241, and there is no
convergence towards z,. whatsoever.

9.2 Eigenvectors and eigenvalues

An eigenvector p (# 0) of a square matrix W has an associated eigenvalue A if Wp = Ap. If you think of
left-multiplication by the matrix W as representing some linear transformation in Euclidean space (rotation,
reflection, stretching/compression, shear, or any combination of these), W’s eigenvectors point in directions
that are unchanged by the transformation, while eigenvalues tell us how much these vectors’ magnitudes
change.

7If g: R™ — R, this approximation takes the form g(z) & g(@«) + 37— gi(z+)(xs — T+ ) = g(x+) + [Vg(zs)] - (x — @4), where
- is the vector dot product operator.
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How do we find eigenvectors and eigenvalues? Eigenvector p is associated with eigenvalue A if

Wp = Ap
Wp—-—Ap=0
(W—-M)p=0 9)

where [ is the identity matrix. To solve for the eigenvalues, note that this equation can be satisfied if and
only if W — AI is singular (i.e., non-invertible), or

det[W — AI] = 0.

This is called the characteristic equation; the left-hand side is a polynomial in A whose order is the dimension
of W. Unfortunately, for polynomials of degree exceeding four, there is no general solution in radicals (per
the Abel-Ruffini Theorem). Fortunately, there are other ways to calculate eigenvalues and you are unlikely to
need to calculate eigenvalues by hand for a matrix larger than 2 x 2.8 If you don’t remember the quadratic
formula or how to find the determinant of a 2 x 2 matrix, now would be a good time to remind yourself.

After solving for the eigenvalues, you can find the eigenvectors using Wp = Ap. Of course, p will not be
pinned down entirely: if p is an eigenvector, then ap is also an eigenvector for any a # 0. In practice, people
sometimes set the first element of each eigenvector equal to 1 (as long as eigenvector does not have a 0 in
that entry) and solve for the rest of the vector.”

Theorem 12 (Eigen Decomposition Theorem). Consider a square matriz W ; denote its k distinct eigenvectors
P1i,--.,Pkr and the associated eigenvalues A1,...,\p. Let P be the matriz containing the eigenvectors as
columns and A be the diagonal matriz with the eigenvalues on the diagonal:

A O o 0
. | 0 A - 0
P=|p1 p2 -+ Pk A= . . . )
| | : : P
0 0 - X
If P is a square matriz, W can be decomposed into
W = PAP™.

et | | | |
PA= |{M\p1 - MPr| = |Wp1 -+ Wpr| =WP,
| | | |

where the first and third equalities follow from the matrix multiplication algorithm, and the second from the
definition of and eigenvector and its associated eigenvalue. Postmultiplying by P~' completes the proof. [

We will use this result extensively to analyze dynamic systems characterized by linear difference equations
(where the linearity typically arises through linear approximation around the steady state). Here’s how:
suppose that a dynamic system evolves according to

kito Kyt
=W .
=

——— =

=Xt41 =X¢

8In the 2 x 2 case, the characteristic equation is

det{wll*/\ w12 }:0’
wa1 w2z — A

or (wi1 — A)(wa22 — A) — wa21wi2 = 0. Note that there may be zero, one, or two real solutions to this equation.
9 A complete specification of this normalization is that the first non-zero element of each eigenvector must be 1. Other options

include requiring that >, p; = 1, or that ||p|| = (3, p?)1/2 =1.
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We therefore have that x; = Wtxq. Off the bat, we might not have much to say about the matrix W raised
to a high power. However, using the eigen decomposition of W gives

x; = (PAP™')'xg = PAPTPAPPA--- AP 'xy = PA'P'x,

where the structure of A makes it very easy to calculate A:

A k

At = t. = .
Ak AL

If all the eigenvalues of W have magnitude less than one, then the x; = Wixy = PA*P~!xq form a
convergent process no matter what xg = [k1 k2] we start from—systems like this are sometimes called
“sinks.” Howewver, if W has an eigenvalue with magnitude greater than one (an “exploding” eigenvalue), the
system only converges if x¢ is such that the element of P~'x( corresponding to the exploding eigenvalue
is zero. Such a system is said to be a “source” or have a “saddle path,” depending on whether some or all
eigenvalues are explosive. More on all this is still to come.

10 Introducing competitive equilibrium

A single agent—typically the “social planner”—has gotten us thus far, but most economic models have
multiple agents. For multiple agents’ presence to have any real significance, these agents will need to interact
with each other; in macroeconomic models, this interaction usually takes place in a market where

e Pricing is linear (e.g., there are no quantity discounts),

e Pricing is anonymous (i.e., the price paid by one buyer is paid by all buyers and the price received by
one seller is received by all sellers),

e All agents are price-takers/-makers,
e The price paid is the price received, and
e The quantity sold is the quantity bought.

In investigating a multi-agent model, we will look for competitive equilibrium. Since the meaning of
a competitive equilibrium can depend on the economic environment, typically the first thing we do is to
define one. A canonical definition is that a competitive equilibrium comprises prices and quantities (or
allocations) such that

1. All agents maximize given the prices (and any other parameters they cannot control) they face,
2. Markets clear (i.e., prices paid are prices received and quantities sold are quantities bought), and

3. Physical resource constraints are satisfied.

11 Comparing planners’ outcomes with competitive equilibria

Consider a set of economies, each of which has a single perishable good, and a mass of agents with utility
function U ({c;}52,) = >, B'u(ct), each of whom receives a constant endowment each period equal to y.
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11.1 Asset-free economy

This economy has no assets. It therefore does not matter whether we consider a social planner problem or
a competitive equilibrium: there are no prices, and the economy’s resource constraint is equivalent to the
representative agent’s budget constraint. The problem of the economy is therefore to

max > Slu(e) st. ¢ =y, Vit
{Ct}tzt: () t =Y

The solution is trivial: ¢f =y for all ¢.
We also know how to write this problem as something like a functional equation, although the value
“function” has no arguments (since there are no state variables):

V =u(y) + V.

11.2 Partial equilibrium asset market

In this economy, you can borrow or save money in a bank that exists outside the economy and pays/charges
gross interest rate R; (known in the previous period) . The only price in the economy is exogenous, and the
economy has no aggregate resource constraint. Thus it again does not matter whether we consider a social
planner problem or a competitive equilibrium. The problem of the economy is to

t
max u(c s.t.
{Ct7at+1}t ; 5 ( t)
¢t +app1 =y + Riayg, Vi
ap = 0; and

an appropriate TVC.

To solve the model, we consider set up a Lagrangian for the representative agent’s problem

L= E ﬁtu(y + Rtat — at+1)
N——
t

Ct

and use the FOCs to generate the intereuler: u'(c;) = SRi11u (ce41) for all ¢.
We can also form a functional equation as long as the interest rates are constant (R; = R for all t):

V(a) = maxu(y + Ra —a') + BV (a').

11.3 General equilibrium asset markets: social planner

In this economy, you can borrow or save money, but only with other agents inside the economy. That means
that one agent can only borrow when another lends her his savings. Let the gross interest rate (known in the
previous period) be R, which now arises endogenously to clear the financial market.

We first consider a social planner in this economy. Market clearing means that a; = 0 for all ¢, and the
economy-wide resource constraint means ¢; = y for all t. We are effectively back in the asset-free economy.

11.4 General equilibrium sequential asset markets: competitive equilibrium

This economy is almost the same as the last one, but each period ¢, a competitive market for financial
claims determines the gross interest rate R;11 between the current and subsequent periods. A competitive
equilibrium comprises allocations {ct, at11}: and prices {Ryy1}+ such that
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e Agents maximize: {ct, as41}+ solve
max Blu(cs)  s.t.
C at+1}t Z t
¢+ a1 =y + Reay, Vit
ap = 0; and

an appropriate TVC.

This gives the same intereuler as in the partial equilbrium assets market: u'(¢;) = SRy1u'(cpy1) for
all t. Note that this will always be the case; individual agents are price-takers/-makers, so there is no
difference (yet) between GE and PE.

e Markets clear: a; = 0 for all t.
e The resource constraint holds: ¢; = y for all £.

By either market clearing and the agents’ budget constraint, or by the economy’s resource constraint, we
have that u/(ciy1) = u/(c;) for all t. Thus the intereuler pins down the equilibrium interest rate Ry = 37! for
all ¢t > 1.

Note that the allocations are the same as the social planner’s solution under general equilibrium asset
markets. This is a direct implication of the First Welfare Theorem.

11.5 General equilibrium Arrow-Debreu asset market: competitive equilibrium

This economy is almost the same as the last one, but instead of trading financial claims each period (one
period ahead of the contracted delivery), all trading takes place before the economy starts. In other words, at
time —1, all the agents buy and sell promises to deliver units of the consumption good at each future period.
Let the price of one consumption unit in period ¢ be p;. We could think of measuring the number of contracts
each agent buys and sells for each period, but it is easier just to measure her consumption, which pins down
her contract position (given y).

A competitive equilibrium thus comprises allocations {c¢;}; and prices {p;}; such that

e Agents maximize: {c¢;}; solve

max tule s.t.
max 2/3 )

Zptct = Zpt% and
t t

an appropriate TVC.

The Lagrangian
L= Z Ct + )\ — Ct)}
gives FOCs 'u/(c;) = Ap; for all t.
e Markets clear: y — ¢, = 0 for all .
e The resource constraint holds: ¢; = y for all t.

By either market clearing or by the economy’s resource constraint, we have that u'(¢;) = u/(y) for all
t. Thus the intereuler implies that p; = Btp for all ¢, where p = »'()/x. (This just gives our one allowable
normalization in prices.)

What are equilibrium interest rates? They are Ry = pt/p,_, = 3, just as we would expect. Again, the
allocations are the same as the social planner’s solution under general equilibrium asset markets.
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12 Pareto Optimality

Definition 13. An allocation is pareto optimal if it is:
1. Feasible: the sum of consumptions is less than or equal to the total endowment; and

2. Pareto: it is not possible to make any person better off without making at least one other person worse

off.

The sections below consider two ways of modelling an economy: as a “Pareto problem,” and as a social
planner problem. We argue that the solutions are the same, and further note that the First Welfare Theorem
ensures that any competitive equilibrium can also be found as the solution to a Pareto or social planner
problem. We will not actually have too much more to say in this class about the Fundamental Welfare
Theorems,'? but there is further treatment in the general equilibrium section of Economics 202/202N.

Keep in mind that these results (as usual) rely on the concavity of the utility function.

12.1 A simple Pareto problem

There is a single period in which a quantity Y of a consumption good must be shared between I > 2 agents,
each with a utility function that satisfies the Inada conditions. The Pareto problem can be specified as:

max uj(cy) s.t.
{eitioy

ui(ci) > uf, Vi > 2
ci >0,Vi>1;

I
Zci S Y.
i=1

The first set of constraints can be thought of as “promise-keeping” constraints: the Pareto optimizer seeks
to maximize the utility of agent one conditional on promises that she has made to deliver utility of at least
u; to each other agent i > 2.

At the optimum, we will clearly have

¢ = ¢ (uf) = inf{zu;(z) > v}
for ¢ > 2; that is, ¢ is the minimum level of consumption that ¢ needs to achieve utility ;. By varying
{c!}i>2 and solving the above optimization, we can identify the full set of Pareto Optimal outcomes. Note
that under these assumptions, since utility is increasing, it must always be the case that Zle =Y, s0

that knowing {c¢}};>2 allows us to back out the optimal ¢f =Y —>".., ¢}
Setting up a Lagrangian (and ignoring non-negativity constraints as usual) gives

L=u(cy) + [g@i[ui(ci) —uf]} +w[Y - XI:CZ:|

=1

Note that the problem is well behaved: the choice set is convex, and the objective function is concave and
differentiable. Thus the FOCs characterize the solution. Taking FOCs,

ui(c]) = w,

Oius(cy) = w, Vi > 2.

10The Second Welfare Theorem ensures that any solution to a Pareto or social planner problem can be “supported” as a
competitive equilibrium.
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Thus

for all ¢ > 2 (or for all 4, if we define an extra parameter 6; = 1).

12.2 A simple social planner problem

As above, there is a single period in which a quantity Y of a consumption good must be shared between
I > 2 agents, each with a utility function that satisfies the Inada conditions. The social planner problem is to
maximize the weighted sum of the utility of all agents. That is, the social planner wants to

I
max Z)\lul(cl) s.t.
{eiti i

C; > 07 Vi;
I

ZQ‘SK

i=1

where the As are the weights—exogenous to the problem—that the social planner places on each agent. Note
that only the ratios of the As matters (we could double the value of each and leave the problem unchanged),
so without loss of generality we can normalize A\ = 1.
Setting up a Lagrangian (and ignoring non-negativity constraints as usual) gives
I I
i=1 i=1

As in the Pareto problem, this is well behaved (the choice set is convex, and the objective function is concave
and differentiable) so the FOCs characterize the solution:

Al (cf) =, Vi.

These imply that

/ *
uy (i)
=1/\
uten N
for all 4.
Thus we can achieve any Pareto optimal allocation in the social planner problem by choosing appropriate

weights: A\; = 1/6;. There is an equivalence between the two problems.

13 Competitive equilibrium practice question

The question that follows was the longest question on the Fall, 2006 midterm. Per the question’s point value,
you might have expected to spend about 36 minutes on it. It did not test any dynamic programing or tricky
math, but it was long and required that you correctly answer the first part of the question before going on
the second parts. This problem tests your ability to take FOCs, interpret the budget constraint, and do some
algebraic manipulation. It also tests something you have already been asked to do on your problem set and
in interpreting Nir’s notes: read between the lines to fully specify a model, some details of which may have
been left out.
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Question

Consider the neoclassical growth model with endogenous hours and government spending. That is, the
representative agent maximizes

(oo}
> BU(C, Ny)
t=0
s.t. Ct + Kt+l — (1 — 6)Kt + gr = WtNt + Rth
and the representative firm produces output according to
Y, = F(K,, N,).

The functions U and F are strictly increasing in each argument, strictly concave, differentiable and they
satisfy the Inada conditions. We also assume that the corresponding TVC holds.

1. Assume that
U(Cy, N¢) = log(Cy) A/
, =1lo —
ty 4V g Lt 1+

and that the production function is Cobb-Douglas
F(Ky, Ny) = KN/}~
(a) Derive the FOCs of the hh and the firm and explain each of the four equations you get (two for
the hh and two for the firm).
(b) Define a competitive equilibrium.
(¢) Is this allocation Pareto-optimal? Give a short intuitive argument.

(d) Describe the steady state of the economy. Hint: you will not be able to find closed form solutions
for the endogenous variables. Use the intereuler condition to pin down the capital-labor ratio,
which you can define as X. Use X to simplify the intraeuler condition and the resource constraint
of the economy.

(e) Consider now a permanent increase in g;. In the new steady state (i.e., ignoring transition
dynamics), what is the effect of this change on the allocations in the economy (N, K, C, and Y)?

2. Now, assume that the momentary utility function is given by

N}Tx
U(Cy, N¢) =log | Cy — T+ .

(a) Derive the FOCs for this economy (two equations for the hh; the firm problem did not change).

(b) Consider again a permanent increase in g; with this new utility function. In the new steady state
(i.e., ignoring transition dynamics), what is the effect of this change on the allocations in the
economy (N, K, C, and Y)?

(c) Compare the effect of changing g for the two cases with different utility functions. Provide intuition
for your result.

Solution
The first thing to do is figure out what’s going on in this economy. Common questions include,

1. Who owns capital?
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LS

d.
6.

What are consumers’ sources and uses of income?
What are firms’ expenses?

What happens to firms’ profit (i.e., who owns firms)?
In what units are prices measured?

What is the physical resource constraint of the economy?

Answers are not always given explicitly in the model, so you may need to use your judgment. In this
model, the answers to these questions are:

1.
2.

6.

Households.

Sources: wages, rental income of capital, (depreciated) capital stock. Uses: consumption, future capital
stock, tax.

Wages and capital rental.

It’s not clear who owns firms—perhaps someone outside the economy? However, it will turn out that
the form of the production function ensures there are no profits. (This is not a coincidence; we will
often see this.)

Consumption goods. An equivalent way to state this is that the price of consumption is normalized to
one.

Ct +gt+Kt+1 :Y;s+(1*5)Kt.

We now proceed with a solution. Note that the discussion below goes into significantly more depth of
explanation than would be expected on an examination. If you were short on time, you could still could do
much of this problem quickly. You should be able to take the FOCs (1a), define a competitive equilibrium
(1b), have a quick discussion of Pareto Optimally (1¢), define a steady state and evaluate the FOCs at a
steady state (1d), take the new FOCs (2a), and mention/define income effects (2c).

1.

(a) You should take the FOCs correctly. The rest of the problem relies on them, so you need to get
them correct. As Nir wrote in his solution set,

“Make sure not to lose points on the FOCs! This problem was certainly not easy in the
later parts, but very standard in its general setup. You should not lose any points and/or
time on questions like part 1a, 1b and 2a. Those alone gave you half the points for this
question.”

As for “explaining” them, most of the explanations are not interesting (“you need to balance
marginal this against marginal that, discounted by the interest rate and 8”). The intuition should
be straightforward for each FOC, and you might consider spending most of your time on the
math rather than writing out long explanations of the FOCs. In fact, on Nir’s solutions, he didn’t
explain the FOCs at all. Do write something (something correct!), but you need not write more
than a sentence or two here.

Firm Problem We have to set up the firms’ problem, which is not given explicitly in the
problem; this is the first of several things that we will just have to use our judgment about.
Looking at the households’ budget constraints suggests that

e Households own capital, which they rent to firms at a price of Ry,

e Firms hire workers at a wage of Wy, and

e The “units” in which these prices are measured are consumption units.
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Thus a firm’s revenue is the quantity it produces, Y; (since the sale price is one), and its cost is
R;K; + W;N;. Thus it solves

max KON}~ — R K; — W;N;.
K¢,Ny¢

We have not included any non-negativity constraints, justified with an appeal to F’s satisfaction
of Inada conditions. The FOCs are below:

[firm, labor] W; = (1 — a) K{* N, *.

The firm should be willing to hire more workers if the wage is less than the worker’s marginal
product (W; < (1 — @)K N, %) and should want to fire workers otherwise. Hence in equilibrium,
Wy =(1—-a)KFN; “.

[firm, capital] R, = aK? !N,
The firm should be able to rent more capital if the rental price is less than the marginal product

of capital and should want to get rid of capital (“rent it to the market”) otherwise. Hence in
equilibrium, R; = aKP 1N},

Household problem Each household seeks to

Nt1+X
14+ x

“log(WyNy + Ry K; — Kyy1 — 1-90)Ky) —
{Kffﬁﬁt}t;ﬁ log( tNe + Re ISy t+1 = gt + ( ) t)

C

given K (and again ignoring non-negativity) or, expanding around a given point,

N}HX
e /Bt log(WtNt =+ Rth — Kt+1 — 0t + (1 — 5)Kt) — 1 :_ X
Cy
N} X
Cian [10g(Wt+1Nt+1 + R Kip1 — Kepo — gey1 + (1= 0)Kyq) — T tj;
Ciq1
Taking FOCs, we get that
1

1
hh, capital] = =

Riy1+(1-9)).
t Ct-',—l( Sl )>

This is the standard intertemporal Euler equation (intereuler). The LHS is the marginal utility
of consumption today; the RHS is the marginal utility of consumption tomorrow, discounted by
B and multiplied by the effective interest rate, Ri1 + (1 — §), which can be thought of as the
marginal rate of transformation between consumption today and consumption tomorrow.

[hh, labor] NXC; = Wy
1

NX = Wi
t

The is the standard within-period Euler equation (intraeuler). Working more gets you W; which,
multiplied by the marginal utility of consumption, C%7 gives you the utility gain from working a
bit more. The household needs to balance this against the marginal disutilty from working, N}X.
A competitive equilibrium is prices {W;, R;}52, and allocations {Cy, N, K3, N3, K&, Y;}5°, such
that
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i. Given prices {W;, R;}72, allocations {Cy, N7, K}, ;}72 solve the household problem;
ii. Given prices {Wy, R;}22,, allocations {N{, K&}°, solve the firm problem;
iii. Markets clear: Nf = N& = N; and K} = K = K; for all t; and
iv. The resource constraint is satisfied: Cy + g + K41 = Y; + (1 — ) K, for all ¢.

(¢) There are no externalities and no market failures, So a CE is Pareto Optimal by the First
Fundamental Welfare Theorem. We could also formally show that the FOC of the social planner
is the same, but since Nir asked for a “short intuitive” answer, this is beyond the scope of the
question. Note that reducing government spending is not a feasible Pareto Improvement, as g is an
exogenous parameter here. You lost points if you said that reducing g was a Pareto Improvement.
That argument, that reducing g makes everyone better off, would be analogous to saying that we
can have a Pareto Improvement by lowering the depreciation rate 9.

(d) Recall the intereuler
1,1
Ci Cty1
In the steady state, C; = Cy41, so

1 K* a—1

(where the second equality comes from the firm’s FOC with respect to capital), or

K. [1-B(1-08)\7T

Thus the capital /labor ratio X is pinned down by /3,4, and «; this pins down R, = a X2 1.

(Ri1 + (1-19)).

From the intraeuler and the firm’s FOC with respect to labor, we have that
C.NY=W,=(1-a)X{.
From the economy’s resource constraint, at steady state

Ci+g.+ K,=K*N'™+(1-0K,
= XN,.

Substituting in K, = X, N, and C, = (1 — a) X*N, X gives that

(1—a)X*NX + g, + 6X.N, = XN,.

This pins down N,, from which we can also solve K, and C,.

(e) Suppose now that g, increases. Note that the intereuler does not change; the capital/labor ratio
X, remains fixed. Recall from the last part that

g = (X —0X )N, — (1 — ) XIN_ X

If g, increases,

e Labor N, increases as well since the right-hand side of the equation above is increasing in N,
(check this!'!),

M There are two terms on the right-hand side. Notice the second term (—(1 — @)X &N, X) is increasing in Ny, and is negative.
Since the left-hand side of the equation is positive, the right-hand side must be as well, so its first term ((X& — 6X«)N,) must
be positive, and therefore increasing in N..
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e Capital K, = X, N, increases (by the same proportion as labor),
e Output Y, = K¥N!~ increases (by the same proportion as labor and capital), and
e Consumption C, o< N, X decreases.

We can think of this as the (long-run) effect of an ongoing lump-sum tax.

2. (a) Here, the household’s problem is

t

max log| WyN; + Ri Ky — Kyy1 — g + (1 — 0) Ky —

{Kt+17Nt}t;6 & L 15 t41— gt + ( ) t T+
Cy

or, expanding around a given point

1+ x

N}X
+ﬁt10g WtNt+Rth—Kt+1—gt+(1—(s)Kt— ¢ +
Cy

N1+X
B log (Wt+1Nt+1 +re41 K1 — Ko — gegr + (1 — 0) Ky ——+2 ) +

1+x

Cit1

With this utility function the FOC are

N} B Nt1:1x -
hh, capital — =t = - 1-
[hh, capitall <C’t g X> B <Ct+1 I X) (Res1 +(1-0))

and
[hh, labor] N = W,.

(b) The intereuler here gives the same steady-state result as with the other utility function: 8= —
(1 = 6) = R,. Since the firm’s FOCs are the same, we get exactly the same capital/labor ratio:

K, _ <15(15))51.

X, =
N, af

From the intraeuler and the firm’s FOC with respect to labor, we have that

NX=W, = (1 —a)X?.

*

If g, increases,

e Labor N, remains fixed, since X, does,

e Capital K, = X, N, remains fixed,

e Output Y, = KN}~ remains fixed, and

e Consumption C, = K¢N!~® — §K, — g. (from the economy’s resource constraint) falls by

the same amount that government expenditures increase.
(¢) Can we say something about the fall in C, in the two models? Yes! Since output increased in the

economy with income effects (the first economy) but remained constant in the second, the same
change in g, will result in a smaller consumption decline in the first model.'? In the model with

income effects, the influence of the lump sum tax on consumption is partly offset by the increasing
supply of capital and labor. Hence for every dollar the government taxes, consumption falls by less

12T6 be more precise, we should consider not output, but Yi — §K,. However, since Y and K, increase by the same fraction,
the difference must increase as long as it was positive to begin with.
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than one dollar in the first example. In the second example, there are no income effects. Having
the government tax a household one dollar causes consumption to fall by one dollar.

Note that the first model has income effects in the sense that a change in consumption changes
the within-period problem, illustrated by the intraeuler C;N)X = W;. Increasing C; must make N;
fall; hence hours depend on income and there is an income effect.

In the second model, in contrast, increasing consumption does not change the household’s within-
period problem, per the intraculer N)X = W;. Given a saving rate, the household must each period

maximize 14
N X
lOg Ct -
14+ x

A . NI . 1 . L
which is the same as simply maximizing C; — T Since the within-period decision is quasi-linear

in consumption, there are no income effects.

14 Constant returns to scale production

In the question above, we noted that firms earned no profits. This was ensured by the Cobb-Douglas
production function, and in particular the fact that it demonstrates constant returns to scale (CRS, or
constant RTS).

Definition 14. A production function f exhibits constant returns to scale if
flak,an) = af(k,n)
foralla >0

One reason that CRS technologies are attractive for economic models is that if firms exhibit increasing
RTS (f(ak,an) > af(k,n) for a > 1), multiple firms will always want to combine and if they exhibit
decreasing RTS (f(ak,an) < af(k,n) for a > 1), firms will always want to split into a multiplicity of smaller
firms. It is also the case that at a competitive equilibrium, firms with CRS production functions will earn
zero profits, ensuring there is no incentive for firms to enter or exit the market.

Claim 15. If f(ak,an) = af(k,n) for all « > 0, then

max f(k,n) —rk —wn=0.

Proof. Consider the definition of CRS:
af(k,n) = f(ak,an).

Differentiating with respect to «,

fk,n) = %( k,an) -k + ZTJ;( k,an) - n.

Since this must hold for all « > 0, k, and n, we can plug in a = 1, k = k,, and n = n,:

Fkasn) = %(k*,m e+ %k*,m .

By the first-order conditions for the maximization problem, %(k*, ny) = r and %(k*, Ny) = W, SO

fke,ny) = rky + wn,
fke,ny) — rkye + wn, = 0. O

=maxg,n f(k,n)—rk—wn
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A production function demonstrates CRS if and only if it is homogeneous of degree one, where a function
f is said to be homogeneous of degree k if

k
flax) = " f(x)
where x may be multidimensional. Using techniques very similar to those above, we could prove

Theorem 16 (Euler’s Law). If f is homogeneous of degree k,

V(x) % = kf(x)
for all x.

The following result is often cited as a corollary of Euler’s Law:
Theorem 17. If f is homogeneous of degree one, then V f is homogeneous of degree zero.

Proof. Homogeneity of degree one means that
f(Ap) = Af(p).

Taking the derivative with respect to p,

AV f(Ap) = AV f(p)
Vi(p) = Vf(p). O

15 Continuous-time optimization

Much of these notes comprise (what I hope is) a slightly clearer version of the lecture notes’ treatment of the
same subject.

The key notation we will use in the following is that “dotted” variables represent derivatives with respect
to time (& = 0z /0t).

15.1 Finite-horizon

Consider the following maximization problem:

T
V(0) = [13,1%]}111«/0 v(k(t), c(t),t) dt  s.t.
k< g(k(t),c(t),t),Vt;

k(0) = ko > 0 given; and

a no-Ponzi condition.

Note that capital is a state variable and consumption is a control. The first constraint is is the “transition
equation” or “equation of motion” for the state variable k. The no-Ponzi condition ensures that capital at

the end of time, k(T), cannot be “too negative.” '3
First, imagine setting up a Lagrangian
T T . —
L= / v(k(t), c(t), t) dt + / () [g(k(t), c(t), t) — k] dt + yk(T)e=T7T), (10)
0 0

13In this problem, the no-Ponzi condition takes the form k(T') exp(—T7(T')) > 0, where 7(t) is the average interest rate from
time O to ¢t. This implies that assets at time T are weakly positive.

32



When we have a countable number of constraints, we multiply each by a Lagrange multiplier and then add
these; here the transition equation gives a continuum of constraints, each of which we multiply by a Lagrange
multiplier p(t) and then integrate across these.

If we try to solve this Lagrangian using typical methods, we face difficulty due to the presence of k; thus
we attempt to eliminate it. Note that

T . T 4
[ ke + eyt = [ 5 (uOk®) dt = D) ~ KOR(O),
0 0

where the first equality follows from the product rule (% (k) = [ik+ku) and the second from the Fundamental
Theorem of Calculus. Hence

[ttt = KD(T) ~ KOV ~ [ k(e
0 0

We can substitute this into equation 10, giving

T T
L= /O v(k(t), c(t),t) + pu(t)g(k(t),c(t),t) dt +/0 [k (t) dt + k(0)u(0) — k(T)u(T) + ~k(T)eT7T) .

=H(k,c,t,p)

With the Hamiltonian defined as above, this is
T —
0

Finding the optimal paths

In general, maximizing over the choice of functions is difficult. Fortunately, Pontryagin proposed a method
that allows us to recast the problem in terms of a single variable, allowing us to use tools we already know to
solve the optimization problem.

* .
Consider a path ¢(t) (which pins down k(t) per k = g(k(t),c(t),t) given k(0)) that solves the maximization

problem. That means that for any other feasible path, the objective function must be lower. We can express

all other feasible consumption paths as the sum of the optimal path ¢ and some “perturbation function”:

c(t) = c(t) + epelt).

Similarly, we can define pg(-) satisfying

k(t) = k(t) + epr(t).

Checking the optimality of ¢ is equivalent to confirming that for any perturbation function p.(-), the
objective function is (weakly) maximized at e = 0. This requires that d£/de = 0 for all functions p.(-) and
pr (). Recasting our Lagrangian in terms of € gives

L(g,...)= /0 H(k(-e),c(,e),t, 1) + fuk(t,e) dt + k(0,€)pu(0) — k(T, e)u(T) + vk(T, g)e~TT(T)

ac  (TlaH .0k Ok(T,e) oy
g = /0 |:d€ + ,leagj| dt + 7@5 [’)/6 — ,LL(T)]

Now, notice that the chain rule and definition of the perturbation functions gives

dH OM dc oM dk  OM oM

il il Sl T el o SOl e A0
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and

0k(T,¢)
= pr(T).
Oe Pe(T)
Substituting in gives
dc Trou oH . _rr(T)
A /0 {(%pc(t) =+ <8k =+ M)pk(t)} dt + pi(T) [’ye - H(T)] .
— — =
=4 =B =¢

Optimality requires that this be zero when evaluated at ¢ = 0 for all p, and pg. For this to hold, one
can show that this must hold component-by-component. (In general, it is not the case that A+ B+ C =0
implies A, B, and C' are all zero; it is true here, however.) That is, we need

oM
Be =V
oH _ .
ok =V

ve T = (1),

Connectively, these are know as “The Maximum Principle.” The first-two play the role of first-order conditions,
and the third is the no-Ponzi condition.'4

15.2 Infinite time

When time is infinite, the problem becomes
V(0) = C:rﬂg}fﬁR/Rv(k(t),c(t),t) dt  s.t.
k< g(k(t), e(t), 1), Vt;
k(0) = ko > 0 given; and

a no-Ponzi condition.

The no-Ponzi condition is now ensured by a TVC: lim;_,« k(t) exp(—tr(¢)) > 0. This means that assets can
be negative everywhere, but that they cannot grow more quickly than the interest rate.

There is some discussion in Barro and Sala-I-Martin as to if this TVC is really needed. They report
that in some circumstance, you may be able to solve the problem with a relaxed TVC. If you are interested,
consult the book.

15.3 The Hamiltonian “cookbook”
15.3.1 One control, one state variable

1. Construct the Hamiltonian. Define

H(k,c,t,p) = v(k(t),c(t),t) + &(’t-)/ < g(kt),c(t),t)

felicity multiplier RHS of transition eqn.

14Note that p(t) measures the shadow price of capital at time ¢ (in utils). The condition that v exp(—T7'7(T)) = p(T") means
that the (shadow) “cost of the no-Ponzi condition”—given by its multiplier v discounted back to the present—is equal to the
shadow cost of the capital stock available at the end of time. If, for some reason, the no-Ponzi condition did not bind, v = 0. But
then the agent could use a bit more capital in the last period and still not violate the no-Ponzi condition. For this to be optimal,
the value of capital in the last period, u(T"), must be 0 as well. If the no-Ponzi condition binds, then capital must be costly.
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2. Take FOC for control variable. Set % =0:

OH(k,c.t, ) Ov(k(E), c(t), ) B
o)~ e MO 0

for all ¢.

3. Take FOC for state variable. Set %—z = —[L

OH(k,c,t,pu) v (k(t), c(t),t)
ok(t) Ok(t

+
=
=
I
\
=
=

for all ¢.
4. Identify TVC. If T' < oo, then the TVC is

that is, either capital equals 0 in the last period (the constraint binds) or the constraint does not bind
and p(T) = 0.

If time is infinite, the TVC is
lim p(t)k(t) = 0.

t—o0

15.3.2 Multiple control or state variables

Now, let there be n control variables and m state variables. That is, we choose ¢1(-),ca(:),...,cn (") to
maximize

T
V(0) = r?(g)x/o 0 (ks (0), oo K (D)1 (E)s s ca0), ) di

=(k(t),8(t),t)
s.t.

e1(t) < g1 (ki (t), - k(). c1(t), . . en(t), 1),V

fem () < gm (k1(t), .. km(t), c1(2), - . ., en(t), 1), VE; and
k1(0),...,km(0) > 0 given.

1. Construct the Hamiltonian. Define

!

Mkt p) = v(k(t),6t).t) + > p(t)g; (k(t),&(t).1).

)

2. Take FOCs for control variables. Set % =0:

(r“)Ci (t) a 8ci (f)

OH (e t,p) _ u(k(t),at),1) +§:

fori e {1,...,n} and all ¢.
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3. Take FOCs for state variables. Set gTHi = —fu;:

OH(K, Gt ) Ow(k(t),Et),t) & ag; (k(t),c(t),t) |
o) o) ;‘” O hm )
fori e {1,...,m} and all ¢.

4. Identify TVCs. If T' < oo, then the TVCs are
i (T)ki(T) = 0
for i € {1,...,m}. If time is infinite, then the TVCs take the form

lim j15(£)ki(t) = 0.

t—o0

15.4 Current-value Hamiltonians

So far we have used what is known as the “present-value Hamiltonian.” There is another formulation of the

problem called the “current-value Hamiltonian,” which is equivalent for the models that we consider in this

class. I am not aware of a particular advantage of this approach, but you might want to know that it exists

in case you come across a Hamiltonian that seems to have been created differently than you expect.
Consider a model with objectives of the form

T
/ e Pru(k(t), clt)) dt.
0 S———————

=v(k(t),c(t),t)

The present-value Hamiltonian is

Hk, et ) = v(k(t), c(t). 1) + p(t)g (kD). c(t). )

= e Pu(k(t), c(t)) + pt)g(k(t), c(t),t).

But, sometimes it is common instead to proceed as follows. Consider multiplying by e”* to get the current-value
Hamiltonian:

ﬂ(k, e, t,p) = eP " Hk, e t, 1)

= u(k(t),c(t)) + e u(t) g (k(t), c(t), t).
——
=A(t)

A(t) is the current-value shadow price: it gives the value of a unit of capital at time ¢ measured in time-¢ utils
(i.e., felicits), rather than in time-0 utils.
The Maximum Principle tells us that at an optimum, we have an FOC in the choice variable
O _ oH oH
dc(t) oc(t) dc(t)

The FOC in the state variable takes the form

oH L
BT(t):e r k(1) = —f(t),
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which, since p(t) = e PIA(t),

Finally, the TVC is
w(T)E(T) = e PPX(T)E(T) =0
or

lim p(t)k(t) = lim e P"A(t)k(t) = 0.

t—o00 t—o0

16 Log-linearization

Recall that we have thus far linearized systems like g: R® — R using the first-order Taylor approximation
about the steady state z*:

Q

(@) + g1 (") (21 — 27) + ga(a™) (w2 — 23) + -+ + gp(a™) (xn — 27,)
(z*) + [Vg(z*)] - (x — a¥).

g(x) =g
g

Linearizing gives an approximation that is linear in x — z*. That is, a one unit change in in x causes the
approximated of g(x) to increase by a constant ¢’(z*). Log-linearization instead gives an approximation for
g(+) that is linear in & = ””;f”* , or x’s percentage deviation from steady state.

Why would we like to do this? Consider trying to describe the economies of Palo Alto and the United
States using a single model. Given the difference in the economy’s scales, it makes more sense to draw
conclusions about how each would respond to, say, a 5% budget surplus—which might in some sense affect
Palo Alto and the U.S. similarly—than to draw conclusions about how each would respond to a billion dollar
budget surplus.

We sometimes think in terms of percent movements (“stocks went down 2%”) rather than absolute
movements (“the Dow dropped by 400 points”). One advantage of the former approach is that it allows us to
express our conclusions in unitless measures; they are therefore robust to unit conversion. This advantage

also accrues to log-linearization: if x is measured in Euros, then so is z — x*, while & = ”;T* is a unitless
measure.
16.1 Why are approximations in terms of 7 = “_* called “log-linear”?

Consider a first-order Taylor approximation of the (natural) log function, the most important Taylor
approximation in economics:!®

1
log(w) ~ log(z.) + — (v — z.)

T — Tx

Il
>

log(z) — log(z.) ~ "

Thus just as a standard Taylor approximation is linear in (x — z.), the log-linearization is linear in
& ~ log(x) — log(z,); that is, it is linear in logarithms.

15You should memorize it and get used to recognizing it. In particular, you should get used to recognizing when people treat
this approximation as if it holds exactly; typically this occurs when the log first-difference of a time series (log(y:) — log(yt—1))
is treated as equal to the series’ growth rate (y:/yt—1 — 1).



16.2 Log-linearization: first approach

To get a log-linearization, there are many techniques. One is to start with the standard linearized (i.e., Taylor

—

approximated) version and “build up” & = **= and f(z) = %{gm.w

F(2) ~ f(a.) + f(@) (@ - 2.)
— J@) =~ f ) (@ - 2
)~ S _ S
7 f()
e, (-

()

(z

f
f

f(z) Ty
T @) T

Here, we have an expression that describes what happens to the deviation of f(z) from its steady state in
percent terms as x deviates from its steady state in percent terms. A 1% increase in x from the steady state

causes f(x) to increase by about £ /;:(Dz))m percent.

You might recognize that this last expression has another name: the elasticity of f(x) with respect to x.
Perhaps it is easier to see when written as

It is important to get some practice with quickly log-linearizing simple functions. Several examples follow:

ox  f(x)

T x

e A Cobb-Douglas production function

_ ra, l—a
yr = ki'ny

a,1l—a kanl—a
yt%y*+057*k* (ke — ko) + (1 —a)=—— (e — ny)
. T
ve—y" ~ el (k= k) + (1) (n = n)
Yy —y” (ke — k) (e —na)
~ 1 — o)t )

Qt ~ O[];Zt + (]. — Cl)’fbt.

e An intereuler 1 )
a—1_l1l—«
— = 576¥Zt+1kt+1 Ny
Ct Ct+1

where z;41 is fixed. We want to log linearize and find é.41 as a function of &, kiy1, and fgqq.

160Qur notation here is that § = y;*y* ~ log(y) — log(y«) for any y. Sometimes we will instead use § = log(y) — log(y«) =~ U;f* .

Both are standard in Nir’s class, but not necessarily generally; in particular, some authors use capitalization to distinguish a
percentage/log deviation from steady state (or trend, or whatever else is being linearized around).
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Rearranging, we see that

a—1_1l—«a
crr1 = Berazppr ki ng

N 0 (ctazt+1kf_;11n%;f‘) 0 (ctazt+1k?_[11n%;{l)
N Cx (Ct — C*) + (kt+1 — k*)
aCt . 8kt+1 .
O(anmaklinif) | (. _n,)
*
3nt+1 y *

Cx & &
~oet+ (e —c) + kf*(ktﬂ — ko) + ni(nt+1 — )

Cx *
Cy Cy Cy
Ct41 — Cx = ;(Ct — C*) + F(a — 1)(kt+1 — k*) + ;(1 — Oé)(nt+1 — ’I’L*)
- Cx — Cx k - k* - *
Cr1 —C (G C)+(a_1)(t+1 )+(1_a)(nt+l )
Cy Cy ks T

ét+1 ~ ét + (a — 1)];Zt+1 + (1 — Cl)’th+1.

e The exponential

ot 2 4 naH(zy — xy)

n—12t — Tx
*

~ xy + x.ne
Tk

=l +nrlly.

e Another function

e" Y mp @ Y e Y (1 — ) 4 €TV (Y — )

Ly — Tx Yt — Yx
~ e:r:*+y* 4 z*ez*ﬂ;* + y*e:rwry*
L s Y

e Y (1 by - B+ Y - 1)
e A sum of functions

Tr + Y X To + Ys + (T — i) + (Yt — Ys)
ry — T — UYx
N Tw + Ys + T tx NI ]

* *

R T+ Yo + To - Ty + Ys - s

16.3 Log-linearization: second approach

This way may or may not be faster; it depends on your preferences and the problem at hand. It is easiest to
explain this method by way of example. The idea is that we will re-express the function in terms of logs of
the variables, and then take a linear approximation in the logs; then we will have log-linearized.

For simplicity of notation, assume that for any variable y;, we define Y; = log(y;). Thus we also have
gt ~ th - Y*

Several examples of this technique follow:
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e A Cobb-Douglas production function, y; = sz‘ntl*a. Let us start with the left-hand side:

Y = elos(ye)
=¥t
o ore 4 20
~elr oY, - (Y; - Ys)
A elosv) 4 elog(v) (v, —y,)
R Y+ Yo Ui

We now proceed with the right-hand side

kf‘n%_a — @ log(k¢)+(1—a) log(ne)

— eoth—i-(l—(x)N,,

aKut(-a)nx O (eaKtHl*a)Nt)

~ K, — K.
‘ K, (K — K.)

K=K,

0 (eOLKH-(l—a)Nt)
N; — N,
" N, (N: = N.)
Ni=N,

~ Y “"O‘y*']%t“"(l_a)y* Tt
equating the two sides, we see that

Y FUs G A s + e+ (1= )y - iy
]Qt ~ al%t + (1 — Oé)’flt
e An intereuler
1 a—1_l—«

1
— = 57azt+1kt+1 Nyt1
Ct Ct+1

where z;y1 and k;11 are fixed. We want to find ¢;41 as a function of ¢, ];:t+1, and ny41. Rearranging
yields that

i1 = Beraze by ngt
Log-linearizing both the left- and right-hand sides gives
Co F Co Gl Igaeot+1+Zt+1+(OL—1)Kt+1+(1—OL)Nt+1
~ BaeZ-H@-DEA+1-a)Ne 4 34 CrntZi+(@ DK+ (1-a)Nes (€, — C.]+
BaeZ-Hla—DEAA=N (o 1) [K;yy — K]+
ﬁaez*+(a_l)K*+(1_O‘)N* . (1 _ a) [Nt _ N*]
R Cy + oy + oo — Dligr + e (1 — o)y

Cip1 = Gt + (Oé — 1)];}4_1 + (1 — Oé)’th

17 Log-linearizing the NCGM in continuous time

We seek to maximize

/ e P U (cy) dt
0
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such that )
k}t = WNy + ’I“tk‘t — 5]6} — C¢. (11)

We set up the Hamiltonian as
Ht = e_”tU(ct) + ut(wtnt + ’I"tkit — (Sk?t — Ct).

Note that there is no disutility associated with working, so they will be chosen to be n =1 (there is no FOC
in ny). Per the Maximum Principle, the correct FOCs are:

oH

— =0 = e P'U'(ct) = pe; and (12)
8Ct

oH d .

% = _ﬁ’“ <~ pe(re — 0) = —fur; (13)

(along with a TVC). Equation 11 is a dynamic condition on capital, and equation 13 is a dynamic condition
on the shadow price of capital, ;. Combining equation 12 (which implies i = e *[U" (¢;)ér — pU’(¢y)]) with
equation 13 yields an analogous condition on consumption:

_ U(er)
U”(Ct)

é (p+6—10). (14)
This is the analogue of the intereulers we get in discrete-time models.
At this point we impose CRRA utility, hence

e

Ule) = T Uc)=cand U"(c) = —oc™ 71,

and Cobb-Douglas production (recall that n = 1), hence
F(k,n) =kn'"® = r=0ak® ' and w = (1 — a)k".
Thus equation 11 becomes

k= (1 — a)k® + ak? Yk, — 0k — ¢

= k? — (Wft — Ct
kt 1 Cy

R N
ki ¢ ky

From now on, we will use the notation that “hatted” variables represent the relative deviation from steady
state (& = log(z) — log(z,) ~ (z — x,)/x.). Note that k;/k, = 4 (logky) = 4 (logky —log k) = k;. This gives

k= kol o5 & (15)

Similarly, equation 14 becomes

¢ = %ct(akf‘_l —p=9)
b= L(ako™t — p—4). (16)

We know that at steady state, equation 16 equals zero, so

p+4o
«

a—1 __
ke =
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and similarly for equation 15,

7:ka—1_5
ks *
_ptd_s_ptill-o) (18)
« «

Log-linearizing equation 15 (noting that &, = 0) gives

Cx >

~ 17 Cx .
ki = (o — 1)k Yoy — Ect + . ky

Substituting in using the steady state results from equations 17 and 18,

p+6+p+5(1—a) - pti(l—a),

= (a—]_) . o ki 70[ Ct
- +6(1 —a) .
= k- =), (19)

Log-linearizing equation 16 (noting that &y = 0) gives

oo — D)ES k.

s 1
~
Ct =~

Substituting in using the steady state results from equation 17,

_a=1p+d),

g

¢ (20)

Combining equations 19 and 20 in matrix notation, we have the dynamic system

jct p _pté(l—a) k,
&l (a=1)(p+3) 0 [ét]

o
If we consider this system as @; = Az, we could “decouple” the system using the eigen decomposition
A = PAP~!. Thus the system becomes %P‘lxt = AP 'x;. The solution is z; = PeM P~ 1017

18 Optimal taxation

18.1 The Ramsey model

In our models so far, we have only had two types of agents: households and firms. When we have considered
government spending, we have always specified it entirely in terms of an exogenous stream {g:}; that is
taken from households. Because the revenue requirement was exogenous, and because the government only
had a single instrument by which to collect it—lump-sum, or “head”—taxes, there was no flexibility in the
government’s behavior and no reason to treat it as an agent in the model.

If we relax either or both of these restrictions—allowing the government to choose the level of revenue
collected each period and/or the means of collecting it—we move to a class of models called “optimal taxation”
or “Ramsey” models. How does the government make its taxation choices in these models? We will generally

17To see this, first note that the system is %i’(t) = A%(t), where we define #(t) = P~1z(t). This gives separable differential
equations in each element i € {1,2} of @ of the form d&;(t)/%;(t) = A;dt = [d&;(t)/Z;(t) = [A;dt = log(Z;(t)) = tA; +
log(%;(0)), where the constant of integration is pinned down by the initial condition. Finally, this implies &;(t) = exp(tA;) - Z;(0),
or P71lz;(t) = exp(tA;) P~ x;(0) = z;(t) = Pexp(tA;)P~1z;(0).
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assume that the government’s objective is to maximize household welfare, noting that the government knows
households will maximize their own welfare subject to tax policy. A stylized way of describing this is as
follows:

max [maxU(c,7)] (21)

T s.t. ... c

where 7 are the government’s tax policies, ¢ are the representative household’s choices, and there is some
constraint on the outer maximization (i.e., the government’s) of the form g(7, c.(7)) > 0, designed to capture
the fact that the government must raise enough money to achieve some exogenous goal.'® A solution gives a
“Ramsey equilbrium”: allocations, prices, and taxes such that

1. Households maximize utility subject to their budget constraints, taking prices and taxes as given,

2. Government maximizes households’ utility while financing government expenditures (i.e., meeting its
budget constraint or constraints),

3. Markets clear, and
4. The economy’s resource constraint is satisfied.

Consider an example: an economy with a representative household and the government. In this economy
there is no capital; households can produce a perishable consumption good with technology f(n) = n, and
they can invest in government bonds. Further suppose that the government must raise (exogenous) g; each
period, which it can do through an income tax or through government debt.

We can write the household problem as

o0

max Zﬁtu(ct,nt)
{eene b} 1=

0
s.t. ¢t + qtbt+1 = nt(l — Tt) + bt, Vt,
by given.

The household’s resource uses are consumption and purchase of bonds; its sources are production (f(n:) = ns)
net of taxes (1yn;) and bond coupons. The government’s resource sources are bond sales and tax revenue,
and its uses are bond repayment and government spending; thus the government budget constraints are

qtbt+1 + TNy = bt + gt, Vt (22)

Finally, it is useful to write the economy’s resource constraint (which must hold by the combination of
household and government budget constraints):

¢+ gy = ny. (23)
So what does the government do? Following the approach suggested by equation 21, it could

1. Find the household optimum as a function of tax rates 7 = {7 }+ and bond prices ¢ = {q};. Setting up
and solving the household problem gives the following intra- and intereulers: for all ,

(1 —7) - ueler, ng) = —up(e, ne), and (24)
qt - uc(ce,ne) = Buc(cryr, neyr)- (25)

These help pin down the optimal {c}(7,q),n;(7,q)},; the household budget constraints then allow us
to find the bond holdings {7, ,(7,q)},.

18Note that 7 captures all tax policies (in each period, for each instrument available to the government), ¢ captures all
household choices (e.g., consumption, hours, assets, and/or capital), and the government’s budget constraint could potentially
be imposing period-by-period revenue requirements.
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2. Choose T and ¢ to maximize
U790 =U ({7 0)},),
subject to the government’s budget constraints,
- bia (754) + 70y (T,4) = 03 (7, 4) + g1

18.2 The Primal approach

The solution procedure described above turns out typically to form a very difficult problem. An alternative
technique, called the “primal approach,” is usually much easier to solve. In the primal approach, the
government optimizes not over taxes, but rather over allocations, subject to a constraint that the allocations
it chooses are optimal for the household under some tax regime. Roughly, this is equivalent to
max U(c),
cs.t. ...

where the government is constrained to choose a ¢ that are the household’s optimal choice (¢ = ¢, (7)) for
some T satisfying the government’s budget constraint g(7,c.(7)) > 0. This is called the “implementability
constraint.”

Proceeding with our example from above, which allocations {c;, nt, bs11}+ are consistent with household

optimization for some tax rate and bond prices satisfying the government’s budget constraint? The intereuler
(equation 25) allows us to pin down bond prices in terms of allocations:

uc(ct+1; nt+1)
uc(cta ’I’Lt)

@ =20

With the government budget constraint (equation 22), this lets us pin down the tax rates in terms of
allocations.

by + gt — qtbit1

Tt =
Tt
bt 9o — B b
= . (26)
Tt
Plugging this into the intraeuler (equation 24) gives
S i i SRR
T uc(ctv nt) ’

where either ¢ or n (here ¢) can be eliminated using the economy’s resource constraint (equation 23):

_ pUc(Met1—gry1,me41)
bt + 9t B uc(ne—ge,ne) bt+1 _ _un(nt — Gt nt)

ng uc(nt - gtﬂ%) .

Thus we can write the government’s optimal taxation problem as

o0
max Zﬂtu(nt = gt,nt)

{ne,bey1} —o

_ puc(ni41—get1,ne41)
s.t. 1-— bt 9= B Ue(ne—ge,m1) bt + Un (Nt — gr, M)

Uz Uc(nt — Ot nt)

=0.

=n(nt,9¢,b¢,Me41,9¢4+1,0641)
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Although it looks ugly, this “primal” problem is actually straightforward to solve!'®

In summary, the primal approach uses the “solution” to the household problem, the government’s budget
constraint, and the economy’s resource constraint to eliminate taxes (and prices) from the government’s
problem. Instead, the government faces an implementability constraint (here, n(n¢, g¢, bt, net1, ge1, be41) =0
for all t). Maximizing over allocations should then be relatively easy, and the implementability constraint
ensures that the allocations are consistent with some taxes that satisfy the government’s budget constraint.
The last step is to solve for the taxes; here we would use equation 26.

19 Introducing uncertainty

Let S be the set of events that could occur in any given period. For now, we will assume that S has finitely
many elements, but this is mostly just for notational convenience; the intuition and most results go through if
the shock space is countably infinite or continuous. Note that we are also assuming discrete time; considering
uncertainty with continuous time makes things significantly more complex, and we will not do so this quarter.

In the simplest possible example, suppose that we flip a coin in each period ¢t > 1. Letting s; denote the
realization of the event at time ¢, we have

ss€ S={H,T}, Vvte{l,2,...}.
Since s; is a random variable for each ¢, we have a stochastic process:

Definition 18. A stochastic process is a sequence {s:}+ of random variables, ordered by an integer t
(which we will think of as time).

Suppose we want to characterize the history of this stochastic process through period ¢; we denote this
object st. For example, after three periods, we may have observed s = (H, H,T). Generally,

5t5(51’52a-~-73t)€S><~-~><S:St’ VL.

This notation can be confusing; a good mnemonic is to use the notational consistency in “s* € S to help
remember that superscripts represent histories.

Any stochastic variable in a model-—whether exogenous or endogenous—can only depend on the uncertainty
that has already been revealed. That is, if some variable ¢; is “determined” at time ¢, that means that
knowing the history s! must give us enough information to pin down c;. We often use the notation c;(s) to
indicate explicitly that ¢; depends on the resolution of uncertainty in the first ¢ periods.

For example, suppose that we make the following bet: I flip a coin each of two days; you pay me $5 today,
and I give you back $11 tomorrow if my coin flips came up the same both days.?° Your incomes in the periods
are given by the random variables y;(s!) and y»(s?), where

y1(H) = =5, y2((H, H)) = 11,
yi(T) = =5; v2((H,T)) =0,
y2((T, H)) =0,
y2 (1, 7)) = 11.

191f you would like a good exercise that allows you to take this example further, consider the following quasilinear felicity
function: u(c,n) = ¢ — a(n) for a strictly convex function a(-). Show that the interest rate on government bonds is 1/q: = 871,
and that no matter the (deterministic) sequence of {g¢}+, there is an optimum with tax rates and labor constant over time. Note
that these results are specific to this utility function, and require that the government be able to credibly commit in advance to
a specific tax plan {7¢}¢.

20Suppose I toss a fair coin (and will not run off with your money). Would you take this bet? Your answer will depend on
your risk aversion and your discount rate.
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19.1 Probability

We denote the (unconditional) probability of observing any particular history st € S* in periods 1,...,t by
Pr(s'). (The notation 7(+) is also common.) For Pr(-) to be a well-defined probability measure, we require
that Pr(s") > 0 for all s* € S*, and that

Z Pr(s') = 1.

stest

In our (fair) coin-tossing example, we have Pr(s') = 27¢ for all ¢ and s* € S*. Often, we will only allow the
first case, where s* remains possible given s” (i.e., s comprises the first 7 elements of st).

We also consider the probability of observing a particular history st conditional on having already observed
history s™ for 7 < t. We denote this probability Pr(s?|s™). Returning to coin tossing,

2-(t=7) if (st sh, ..., st) =57;

Pr(s'|sT) =
(s%1s7) 0, otherwise

forallt, 7 <t, s €St and s € S7.

It will often be convenient to consider an additional period, ¢ = 0, in which there is no uncertainty. To
keep our notation consistent, we use the symbols sy and s to represent the (non-stochastic) state at t = 0,
and extend the definitions of our probability functions as follows:

Pr(s°) = 1;
Pr(s'[s?) = Pr(s), Vt>0.

Using this second extension, we can specify the full probability structure with just the conditional probability
functions Pr(-|-).2!

19.2 Utility functions

Consider an agent whose preferences are time-separable, have exponential discounting, and admit a
von Neumann-Morgenstern representation.?? Her preference can be represented by

Ulc) = Z Z Bru(cy(s")) Pr(s")

t stesSt
=E {; /Btu(ct)] :

We rely here on the linearity of the expectation operator; we will often do so.

20 Markov chains

Although the general structure laid out above will be useful, we will often be willing to impose more structure
on the probability structure. The most common structure we will assume is that {s;}; forms a Markov chain.

211t is a bit cumbersome to have period zero be “different” from all other periods, and we will not always do so. However,
it offers two advantages. The first is that having period zero be non-stochastic allows st € S?, rather than st € S*+!. More
importantly, having a non-stochastic state allows us to write unconditional probabilities as conditional probabilities, since we
can reference/condition on a history (s°) that is entirely uninformative.
22Preferences admit a von Neumann-Morgenstern representation if and only if they satisfy:
1. Continuity: For any z, o/, '/ with z 75 o’ =~ x”, there exists o € [0, 1] such that az + (1 — o)z ~ z';
2. Independence: For any z, 2/, 2’/ and o € [0, 1], we have z Z 2’ <= az+ (1 — a)z”  az’ + (1 — a)z’’; and
3. A “sure thing principle”

(in addition to the usual completeness and transitivity). Extensive discussion of these points is conducted in Economics 202.
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Definition 19. A stochastic process {s;}: satisfies the Markov property (or is a Markov chain) if for
all ty <ty < -+ < tp,
Pr(st, = s|St,_1s5t,_gs---+5t,) = Pr(se, = s|st,_,).

Although the notation looks odious, the intuition is not bad. A Markov process is one where if one has
information about several realizations (s¢, _,,..., St ), only the latest realization (s, _,) is useful in helping
predict the future.

Note that by the definition of conditional probability (and the trivial fact that Pr(st|s'~!) = Pr(s|s'~1)),

Pr(s') = Pr(s|s"™1) - Pr(s"™1)
= Pr(s|s"™1) - Pr(s;_1|s"2) - Pr(s'?)

= Pr(sy|s"™1) - Pr(s;_1|s72) - - - Pr(s1]s°).

Fortunately, the Markov property implies that Pr(s:|s!~!) = Pr(s¢|s;_1), so for a Markov chain

= Pr(sy|si—1) - Pr(si—1|s¢i—2) - - Pr(s1]so)
1

~+
|

Pr(s;y1ls;).
0

<.
Il

Similarly, for a Markov chain,

t—1
Pr(s'|s7) = [ [ Prsjsalsy).
Jj=T

for all t, 7 < t, st € S*, and s7 € S™ with s™ = (s}, sh,...,st). Thus we can specify the entire probability
structure of a Markov chain if we know all of its “transition probabilities” Pr(s;y1|s¢). In general, these
transition probabilities may depend on the time . However, this may not be the case, in which case our

Markov chain is time-invariant.

Definition 20. A time-invariant Markov chain is a stochastic process satisfying the Markov property
and for which

Pr(siy1 = jlse = i) = Pr(si2 = jlsit1 = 4)
for all t and (i,7) € S%. This implies that the transition probabilities are constant over time (by induction,).

For a time-invariant Markov chain, we can summarize these transition probabilities in a transition matriz.
Suppose without loss of generality that the shock space S = {1,2,...,m}. Then we define the transition
matrix P by

Pij = PI'(SH_l = j‘St = Z)

for every i and j (and any ¢: by time-invariance, the choice does not matter). Every row of P must add to
one (ZJ P;; =1 for all i), which means that P can be called a “stochastic matrix.”

Note that an iid process (i.e., one for which the realization is distributed independently and identically
across periods) is a time-invariant Markov chain, and will have a transition matrix where every row is
identical.

20.1 Unconditional distributions

Suppose we have a time-invariant Markov chain and—contravening our earlier notation—also allow sg to be
stochastic. In particular, let o be a vector whose ith element is Pr(sy = 7). Clearly, >, mo; = 1.
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Can we say anything about an analogous vector m; characterizing the (unconditional) probability distri-
bution of s; € S? That is, we seek a vector with elements given by m1; = Pr(s; = 7). By the law of total
probability,

mi = Pr(sy =) =Y _ Pr(s1 = i[so = j) - Pr(so = ).
J —p

ji =704

This looks like the matrix multiplication algorithm, and indeed is equivalent to stating that 73 = P’my.
Similarly, for any ¢,

Ty = P'my or equivalently Ty = P, (27)
and induction gives that

m = (P)'mo m, = my P’

20.2 Conditional distributions

Suppose that we are in state ¢ today (i.e., event i occurred); what is the probability that we will be state j
tomorrow? This is F;;. But what is the probability we will be in state j in two days? By the law of total
probability,

Pr(siro =jlse =1) = ZPI‘(St+2 = j|str1 =k, 8t = 1) - Pr(sep1 = klse = 1).
k

The first probability on the right-hand side can be simplified by the Markov property:

= Zpr(3t+2 = j|st41 = k) - Pr(ser1 = klse = 14)
k

=Py; =Pk

= (P?);j.
It is not hard to see (or show) that more generally, for 7 < ¢,

PI‘(St = le-,— = Z) = (Pt_T)Z'j.

20.3 Stationary distributions

An unconditional distribution Pr(s;) is said to be stationary if it gives the same (unconditional) distribution
across states in the following period; by induction, this ensures that the distribution will be the same in
all subsequent periods for a time-invariant Markov chain. Considering the vector representation of an
unconditional distribution (my; = Pr(s; = 1)), m is a stationary distribution (or invariant distribution) if
w1 = mg. Per the law of motion we stated in equation 27, this requires m; = 7 satisfying

Pr=n
(P' — )7 = 0.

This should look familiar; we saw something very similar in equation 9. It means that a stationary distribution
is any eigenvector associated with a unitary eigenvalue of P’, normalized so that the sum of the elements of
the eigenvector is one. The fact that P is a stochastic matrix (i.e., one whose rows add to one) ensures that
it will have at least one unitary eigenvalue (although it may have more than one).

You should be able intuitively to identify the stationary distribution(s) for an iid process. What about
the process with transition matrix P =17 Or

j {‘1) (ﬂ? (28)
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20.4 Ergodic distributions

Consider starting a Markov chain with initial distribution 7, and “running the process forward” arbitarily.
It seems the distribution across states should be given by 7o (7g) = limy_ 0o T = limy o0 (P') 1. We can
call this the “limiting distribution,” but should check first whether this limit is even well defined! It turns
out that it may or may not be. The clearest illustrations come from considering P =TI (in which case the
limiting distribution is the initial distribution), and the process with transition matrix as given in equation 28
(which has no limiting distribution unless 7o = [, 1]').

Note that any limiting distribution must be stationary.

We will put aside the question of whether a Markov chain has a limiting distribution; suppose for now
that it does. In fact, for some Markov chains, the limiting distribution not only exists, but does not depend
on the initial distribution.

Definition 21. A (time-invariant) Markov chain is said to be asymptotically stationary with a unique
invariant distribution if all initial distributions yield the same limiting distribution; i.e., Too(To) = Moo
for all my. This limiting distribution, T, is called the ergodic distribution of the Markov chain, and it is
the only stationary distribution of the Markov chain.

We state without proof several important results about asymptotically stationary Markov chains with
unique invariant distributions.

Theorem 22. Let P be a stochastic matriz with P;; > 0 for all i and j. Then P is asymptotically stationary,
and has a unique invariant distribution.

Theorem 23. Let P be a stochastic matriz with (P™);; > 0 for all i and j for some m > 1. Then P is
asymptotically stationary, and has a unique tnvariant distribution.

This means that as long as there is a strictly positive probability of moving from any particular state
today to any particular state in one or more steps,? then an ergodic distribution exists. Thus if we can find
an m for which (P™);; > 0 for all ¢ and j, we can

1. Note that P must therefore have an ergodic distribution, and that it must be the unique stationary
distribution of P, and

2. Solve (P —I)mo, = 0 for this unique distribution.

21 Risk-sharing properties of competitive markets

Now that we are considering stochastic models, we can ask how agents react in the face of risk. We should not
be surprised that when risk-averse agents have access to assets that allow them to insure against uncertainty,
they use them. It turns out that when markets are “complete”—that is, agents can trade contingent
securities for every state of the world—agents will “perfectly insure,” subjecting themselves to no individual
(idiosyncratic) risk. There may still be aggregate risk: if the economy is closed and a hurricane strikes
everyone, the resource constraint ensures that everyone eats less. However, as long as the aggregate resources
available in the economy are non-stochastic (which will often be ensured by a law of large numbers), perfect
insurance allows everyone to avoid uncertainty in consumption.
Consider an economy with agents who have identical preferences represented by

U} = L BlB ()]

23This is an example of a “mixing condition.” Analogous conditions exist with infinite state spaces, although they are harder
to write.
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Suppose that agent i receives a stochastic endowment {yi(s?)}22, of the (perishable) consumption good. The
only assets available to agents are a complete set of state-contingent securities traded at time 0, which (in
equilibrium) are priced at g;(s%).2* Agent i’s problem is therefore to

max Z Z Blu(ci(s")) Pr(s') s.t.

i t
(et} 20 stest

D> alshwi(sh —ci(sh)] > 0.

t=0 ste St
Setting up the Lagrangian
L=y > {ﬁtu(ci(st)) Pr(s') + p'q(s") [yi(s') — ci(st)]]
t=0 steSt

gives first-order conditions of the form
wan(s') = B’ (ci(s")) Pr(s").

Dividing the FOCs of two two agents, we have

) (Bt () ) = s,

I

Summing across agents ¢ and noting that the economy’s resource constraint, Y, ci(s*) = >, yi(s"), gives

S (B ) = X
= i), (29

Although ugly, this equality tells us something important: consumption of each agent ¢} (s*) depends on the
state s' only through the realization of the aggregate endowment #(s?).
If we are prepared to impose a functional form on u(-), we can go a bit further. Suppose for example that

= -1

Then equation 29 becomes

1o
(1)
Ny
(1)
With complete markets and power utility, each agent’s consumption is a constant fraction of the economy’s
aggregate endowment.

dls') = ils")

24 Although we solve the Arrow-Debreu problem, identical results obtain with complete sequential markets; there, agents trade
each period in contracts that pay off in the subsequent period depending on what state occurs.
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22 Perfect and imperfect insurance practice question

This question comes from the Economics 211 midterm examination in 2007. It is based on a model of
Doireann Fitzgerald’s from 2006.

Question

There is just one period. Suppose there are two countries: A and B. Country A receives an endowment of
ya(s) units of the consumption good as a function of the state of the world s. Country B receives yg(s). Let
7(s) > 0 denote the probabilities of the state of the world s.

The representative agent in each country has a utility function given by

> mls)loge(s),

S

where ¢(s) denotes consumption by the country in state s.
Suppose that the consumption good can be transported at no cost from one country to another.

1. Set up the Pareto problem, letting A be the planner’s weight on Country B. Show that in a Pareto
optimal allocation, each country consumes a constant fraction of the total endowment y4(s) + ys(s).

2. Suppose that before the state of the world is realized, the countries can trade claims on consumption in a
complete asset market. Assume that initially, each country owns the claim on its stochastic endowment.
Solve for a competitive equilibrium and show that it is Pareto optimal.

Suppose now that the consumption good is costly to ship across countries. In particular, for a unit of
consumption good to arrive in Country B from Country A, 1 + ¢ units of consumption have to be shipped
from Country A (and similarly from Country B to A), where ¢ > 0. We can think of ¢ as capturing a piece of
the consumption good that melts away due to transportation costs.?> Suppose also that there are only two
states of nature s € {s1, s2} and that the endowments are

(s) = 1, fors=s
yals) = 0, for s=s5
and yp(s) =1 —ya(s). So ya(s)+ yp(s) is constant. Let m(s1) = 1/2.

3. Set up the Pareto problem (let A be the planner’s weight on Country B), and write down the first-order
conditions. Show that in a Pareto allocation, the consumption of a country will now depend on its
endowment realization, that is, Country A consumption depends on y4(s) and not only on y4(s)+yp(s).
How does t affect the sensitivity of consumption to income?

4. What does part 3 imply for tests of complete markets across countries?

Solution

1. The Pareto problem is to

max 1—A m(s)logeca(s) + A w(s)logep(s) s.t.
(o255, (1 =N e 08 () 43 3 (6 oo
ca(s) +cp(s) <ya(s)+ys(s), VseS.

=7(s)

25Indeed, this form of transportation costs are often called “iceberg costs,” although melting is only one of the analogies that
has been used to explain the name.
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Setting up the Lagrangian

L= SGZS A logcal(s )Jr)\log(y(s)_ (cf)l(s))]

gives first-order conditions of the form

Plugging cp(s) = ca(s) - A/(1-») into the resource constraint gives

ca(s) = (L=X)-y(s),
cp(s) = A-y(s)-
. Let the price of a claim on consumption in state s be ¢(s). An equilibrium is prices {q(s)}ses and

allocations {ca(s),cp(s)}ses such that the markets clear (ca(s) + cp(s) = ya(s) + ys(s) for all s € S),
and {c¢;(s)}ses solves the problem of country i € {A, B} given {q(s)}scs-

The problem in country 7 is to

max Z m(s)logei(s) s.t.

{ei(s)}ees 2

S a(s) [pa(s) — es(s)] > 0. (30)

seS
Setting up the Lagrangian
L= [n(s)logeils) + pia(s) [ui(s) — cils)]|
seS

gives first-order conditions of the form

7(s)

o) 1iq(s)- (31)

Dividing A and B’s first-order conditions gives

Plugging cp(s) = ca(s) - #4/up into the resource constraint gives

“B _
ca(s) = ——y(s),
A(s) MA+MBy()

HA _
cp(s) = ———y(s).
5(5) A+ pB )

As these are constant fractions of the total endowment, these allocations are Pareto optimal.

Substituting into A’s first-order condition (equation 31) gives

w(s) = AP (ag(s) = qs) = w<s>%y<s>—l.

52



(This is an example of a more general result show in class: g(s?|s") oc Bu’(c(s')) Pr(s').) We are allowed
to normalize one price, which we can do by requiring that (#a+18)/(paup) = 1. This gives us equilibrium

prices
7(s)

q(s) = %

Substituting into A’s (binding) budget constraint (equation 30):

Zz((g{yA(S)i’i(sﬂ =0

ses HA + B

=q(s) =ca(s)

. The Pareto problem is to

max (17/\)21/210gc,4 +)\Zl/2logc]3 s) s.t.

{ca(s),cB(8)}ses

ses SES
ca(s1)+ (1 +t)ep(s)) <1,
(1+1t)ca(s2) + cp(s2) < 1.
Setting up the Lagrangian
_ 1—ca(s1)
2L=(1—-AN)logca(s1)+ Alog BT + (1= N)logca(s2) + Alog(1 — (1 +t)ca(s2))
| ——
:(;B(Sl) :65(52)
gives first-order conditions
1—A A A
14+ t)ep(s1) = ca(s1);
ca(s1)  (T+t)ep(s) R
1—A (I+t)A 1—A
= 1+t = .
DIER R e teatia) = 5men(ed
Substituting into the resource constraints gives
ca(s1))=1-2X c(s)—i'
A\S1) — ) B\°1) — 1+t7
1-A
ca(s2) = 15 cp(s2) =\

Thus ca(s1) > ca(s2) and ¢p(s1) < ¢p(s2), even though the aggregate endowment is constant across
the two states. Hence consumption depends on one’s own endowment realization.

. Suppose that the First Welfare Theorem applies, so that equilibrium is Pareto optimal. Then by part 3,
we should not expect to find independence of a country’s consumption from its own endowment, even if
markets are complete. Hence the fact that empirically, consumption does vary with endowment is not
by itself sufficient evidence to reject the complete markets hypothesis.
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23 Asset pricing with complete markets

For our purposes, the term “asset” refers to a contractually-guaranteed right to delivery of consumption
goods, with the amount of delivery conditional on the history of the world st. The notation can be a little bit
tricky, but there are three main ways that we denote the prices of assets:

1. q7(s%): This is the price of an asset that delivers one unit of consumption at history s, where the price
is paid in history-s™ consumption goods (for 7 < ¢, and assuming that s] = st,...,sT = st ). This
notation captures the price of Arrow-Debreu securities, ¢°(s?); these are actually sufficient to pin down
all g7 (s*) according to

The Arrow-Debreu prices are pinned down (up to a normalization) by any agent’s consumption, since
the first-order conditions of the consumer problem

E t ' t.
{{Ct(srg)l?j:est}t |:Zﬁ U(Ct(S )):| s

t

Y3 el < B

t steSt

are of the form

¢ (s) = X7t (ce(sh))m(s").
Thus

L)) ) m(s'[s7). (32)

2. p°(s7): This is the price of an asset that delivers d(s’) units of consumption at every history s for t > 7
if history s” is achieved, where the price is paid in time-zero consumption goods. This is a “redundant”
asset; i.e., it could be created with a suitable combination of Arrow-Debreu securities, which determines

the asset’s price:
P(sT) =Y > ¢ (sNd(s").
t>T st|sT

0

In the simplest case, where s™ = s = s, the asset delivers d(s’) at every s’; the price (paid in time-zero

consumption goods) is
P(s0) =D Y a’(s")d(s").
t st

3. p7(s7): This is the price of an asset that delivers d(s') units of consumption at every history s! for t > 7
if history s is achieved, where the price is paid in history-s” consumption goods. (This is sometimes
called the price of the “tail asset.”) To convert from a price measured in time-zero consumption goods,
we must divide by the time-zero price of history-s” consumption goods:

0 ST
pT<ST) = ](;OEST; = Z Z

t>T st|sT

C]O(St) t
(57 d(s”). (33)

=q7 (s?)
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Suppose that d(-) is such that d(s') = 0 for all t # 7 + 1; that is, the asset can only pay off in the
period after it is “purchased.” By equations 32 and 33,

pr(sT) =Y g7 (sT)d(sT)

Sr41

=mrq1(s7)

where m, 1 is called the stochastic discount factor (note that it sort of tells us how much the consumer
discounts consumption payouts in s7*! when valuing them in units of history-s™ consumption). This
also gives an expression that functions as a stochastic intereuler: defining the (stochastic) return on the
asset as R, 1(s7T1) = ds™)/p7(s7),

1=E,; [mT+1RT+1] .

We can also apply the law of iterated expectations to ensure that an analogous result holds with
unconditional expectations:

1= E[m7+1RT+1] .

24 Introducing incomplete markets

Thus far, we have discussed models where agents can trade contingent claims for consumption at every
possible history of the world. There are important insights to be gleaned from such models, but they also
make strong predictions about perfect insurance that clearly don’t hold up in the real world. We therefore
start to consider economies where only a limited set of assets trade.

There are a number of reasons we might expect markets to be incomplete. One possibility is that the
state of future states is so large and complex that either bounded rationality or transaction costs interfere
with the issuance of a full set of contingent contracts.

Another potential problem is that people may not actually keep their promises. (We touched on a related
problem in our discussion of time-inconsistency in optimal taxation.) An agent may commit to pay, and then
fail to. She might commit to reveal some private information, but lack a means to prove that her revelation
is honest. Or she might commit to take some private action, but lack a means to prove that she is actually
taking it.

In the simplest models we discuss, we will exogenously impose a particular form of incompletness on
markets. Typically, we will only allow consumers to trade risk-free securities. Although we won’t explicitly
discuss why we make these impositions, you should typically have stories about transaction costs, bounded
rationality, or commitment issues (including private information and hidden actions) in mind.

Incompleteness of markets can introduce significant complications to our analysis. For example,

e There may no longer be an equivalence between sequential and date-zero trading. We need to solve the
economy as it actually exists.

e Representative agents may no longer exist.
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e When developing a recursive formulation for agents’ problems, the state space is typically much more
complicated. Perfect insurance under complete markets means that we often need only include, for
example aggregate asset holdings and today’s shock realization. With incomplete markets, asset holdings
vary across agents, so we need to track the full distribution.

25 Econometrics of incomplete markets practice question

This question comes from the Economics 211 midterm examination in 2007.

Question

Suppose an agent consumes two goods every period: bananas and newspapers. Let the per-period utility
function given consumption of bananas ¢, and consumption of newspapers ¢, be given by u(cp, c,). Let us
assume that this utility satisfies all standard properties (strictly concave, strictly increasing, and differentiable).

The agent lives for two periods. Let p; and ps(s) denote the price of newspapers in units of bananas in
periods 1 and 2, respectively, where s represents a stochastic state of the world that realizes in period 2. The
agent receives an endowment in period 1 equal to y; units of bananas, and receives y2(s) units of bananas in
period 2. The probabilities of states of the world are denoted by 7(s) > 0. The agent maximizes expected
discounted utility, where the discount factor is given by .

Suppose the agent can save in a riskless bond that returns R units of bananas in period 2 irrespective of
the state of the world. Suppose that the agent cannot borrow. Assume for the questions that follow that the
solution to the agent problem is interior—i.e., the borrowing constraint does not bind.

Suppose that utility is separable between bananas and newspapers and takes the following form:

c;_% el
11— b 1- Tn )

U(Cb7 Cn) =

1. Show that the following equation holds:

e’
BE|R| — =1 (34)
Cb1
for some p, where ¢p1 and ¢y are consumption of bananas in periods 1 and 2, respectively.

Suppose that an econometrician observes the interest rate on the risk-free bond, but only has information
about the number of bananas consumed by the agent in periods 1 and 2. She does not observe the agent’s
endowment, his consumption of newspapers, nor the price of newspapers (p; and ps).

2. Assuming that the econometrician observes several of these agents at different points in time (with
possibly different risk-free interest rates), can she estimate 7,7 What about v,,? Ignoring non-linearities,
write down the regression that could be used.

Suppose for the rest of the question that the utility is non-separable and takes the following form:

(chen )

— (33)

u(cp, cn) =

for some « € (0,1).

3. Show that the econometrician in part 2 can estimate 7 as long as p2(s) = p; (the price of newspapers is
constant) by estimating the same Euler equation as in part 2. Can she estimate «?
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Solution

1. The consumer’s problem is to

max u(cp1, cn1) + B Z m(s)u(u(epa(s), cn2(s)))  s.t.

cb1,6n1,{cp2(5),cn2(s)}ses,a ses

cp1 +picn1 +a < yi;
cp2(8) + p2(8)cna(s) < ya(s) + Ra, Vs;
a > 0.

Setting up the Lagrangian (assuming that a > 0 does not bind, and substituting in for ¢;; and cpz2(s)
using the budget conditions)

L=ulyy — pien1 — a,¢n1) + 8 Z 7(s)u(y2(s) + Ra — pa(s)cna(s), cna(s))
ses

gives first-order conditions of the form

P1u1 (o1, Cn1) = u2(Co1, Cn1)
pauy (CbQ(S), an(S)) = U2 (%2(5)7 an(S))
u1(cp1,cn1) = BRE [U1(Cb2, Cn2)]~

Noting that the functional form of u gives uq(cp, ¢n) = ¢, 7, the banana intereuler becomes

cb—l’)’b — ﬂRE[cb—;’b}

B CE —7e
1—se|r(22) .
Cha —7b .
ﬂR<Cbl> €]

2. Define € by

therefore, E[e®] = 1. Taking logs,

log 8+ log R — 4 10g(cb2> =g,
Cv1

log R = —logﬁ—&-%log(cw) +e.

Ch1

Thus the econometrician can estimate 4, using OLS, since e®f] ~ E[ef] =1 = E[¢] =~ 0.

The intereuler for newspaper consumption is

—Tn
1:5E{Rm(%2> }
P2 \ Cn1

As p1, pa2(s), and endowments are unobserved, the econometrician cannot recover ¢n2/c,,. Hence, she
cannot estimate v,. (Note that I do not know if we can actually prove that +, is not estimable.)
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3. Using the new functional form of u, the banana intereuler becomes

a(l=v)—1 (1 a)(1—7) ﬁRE[acogl v)— 16(12—a)(1—7)]

acy,
(Cbz ) a(l-y)-1 (an ) (I—a)(1—7)
Cpl Cnl .

Since period-utility is Cobb-Douglas, expenditure on newspapers is a constant fraction of expenditure
on bananas. This implies ¢2/c,; = (P2¢n2)/(p1¢,1), hence

<Cb2> ’Y<p1>(1—04)(1—’>’)
Cpb1 D2 .

Hence, if p; = ps, v can be estimated exactly as in part 2. However, the econometrician cannot estimate
« from this intereuler. (As above, I do not know if we can actually prove that « is not estimable.)

1 = BRE

= BRE

26 Hall’s martingale hypothesis with durables practice question

This question comes from an old Economics 211 problem set. It is not solved in these notes, but is a good
practice problem for you to work through!

Question

Hall (1978) showed that consumption should follow an AR(1) process, and that no other variable known at
time ¢ should influence the expected consumption at time ¢ + 1. Mankiw (1982) generalized Hall’s results for
the case of durable consumption as follows. Suppose consumers have the following preferences over durable

goods and non-durables:
(oo}
o> alsHBtu(K(sh),
t=0 steSt

where
K(s") = (1= 8)K(s"") +e(s"),

K represents the stock of the durable good, and ¢ the acquisition of new durables. Consumers have access to
a riskless bond. Labor income is the only source of uncertainty, and the gross interest rate is constant and
equal to R. The evolution of assets is given by

A(s') = RA(s™™1) + y(s?) — e(sh).

1. Show that the first-order condition for optimality implies (ignoring the possibility of a binding borrowing

constraint) that
u' (K(s') = BRY (s |s')u! (K (sF1)).

gt+1
2. If u is quadratic, show that
(s =m 4 (a = (1= 9))K(s") + (s,

where o = (BR) ™1, E[g(s'T1)|s'] = 0, and v, is a constant.
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3. If u is quadratic, also show that
ac(s') =yo + (a— (1= 8))K(s") + (1 — §)e(s"),
and hence
c(s™h) = yzac(st) 4 e(s™) — (1 — 6)e(s")
where v and 3 are constants.

Acquisition of durables therefore follows an ARMA(1, 1) process.

4. Argue that the same result will obtain if non-durable consumption goods are introduced into the model,
with the agent’s utility flow given by a separable function

u(K, z) = ug (K) + u(2),

where K is the stock of durables and z is the consumption of non-durables.

27 General equilibrium in incomplete markets

27.1 A constant absolute risk aversion example

Consider an economy populated by a large number of ex ante identical agents. That is, each faces the same
stochastic distribution of shocks, but is affected by her shock’s idiosyncratic realization. Each agent has
constant absolute risk aversion; her preferences are represented by

U({e()) =B 3 pulets)) | = B[S g,

where s! is the history of the consumer’s shocks (not the history of the world).
Each consumer receives an i.i.d., normally-distributed stochastic endowment each period:

y(s') ~ N(g,0%).

Note that by a law of large numbers, there is no aggregate uncertainty. Since there is no “worst” possible
shock, we cannot apply a natural borrowing constraint (¢ = —00); we do need to prevent over-borrowing,
but will do so through an (unstated) no-Ponzi condition. Furthermore, we must allow consumption to be
negative.

The only markets available are for risk-free bonds. The consumer problem is therefore to

{({nsax E[Zﬁu Ri_qa(s = 1)"’9( ) — (t)) .

Given the stationarity of the problem, we can also write this as a functional equation:
V(z) = max [u(x —a)+ BEV(Ra + y’)},
a

where x is the “cash on hand” after the realization of the stochastic shock.
Earlier in the term, we discussed several techniques for solving problems like this one. We will proceed by
“guessing and verifying;” fortunately, we will start with some very good guesses:

1 a
V(z) = ——e Ao B,



If these guesses are correct, the value function becomes

1 4y 1 : R
_767Aac7B _ —*677‘41773 +BE [\_1/’}’ . efA(lfA)RerABRfAy 731]
y
D 0 —V(Ra+y")
_ _le—'yAz—'yB _ ée—A(l—A)Rm+ABR—BE|:eAy’] )
Y v

i A As A Ay’ Aia A252
Since Ay’ ~ N(—Ag, A%20?), we have E[e4V] = e~ Av+A 07 /2,
L o As—vB B _A(1—A)Rat ABR—B—Ag+A%s?)2
_ZeYAz—yB _ [ —A( )Rz+ g+A%0?/
v Y
—Az—B e—’YAGJ—'yB+Be—A(1—A)Rw+ABR—B—Ag+A202/2

=B _ o—(yA-A)z—B +ﬂe(A7AR+AAR)szfAy+A%2/2.

Since the left-hand side does not depend on z, the right-hand side also must not;2% this implies yA — A=0
and A— AR+ AAR =0, or

Thus if we can pin down R, we know A and A.27
The envelope condition is that

V'(z) = (c(x))

éean:fé _ 677141:7713
v
logA—%—B:%—'yB
log A +~B = B. (36)

Thus if we can pin down R and B, we know A, A, and B.
Finally, we have the first-order condition:

u'(c(z)) = BREV'(Ra(z) +y)
e—’yAa:—'yB — BRE [A/'y . e—A(RCL(x)'H/)_B:I

_ ﬂRAe_ARa(w)_BE[G_Ay/:I
_ ﬂRAeiARG(I)*B*Ay+A2"2/2.
Plugging in a(z) = (1 — A)x — B gives

_ ﬂRAefAR(l7A)z+ARBfﬁfAy+A2U2/2

26Here we act as if the fact that the sum of the right-hand-side terms does not depend on x means that neither term depends
on z.

27If we want to confirm that our functional form guesses are correct, we should return—after pinning down B and B—to
confirm that e 2 = e~ 7B 4 ,Be_B_A’ﬁ'Az"z/z. We will not do this.
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Taking logarithms and cancelling terms using equation 36,

—yAz — ¥B = log(BR) + logA — AR(1 — A)x + ARB — B — Ay + A%/

> }1434/ R-1 R-1_ L,(R-1? o2
N 4ty "RB - T
e og(BR) — R$+v 7 R TR y+y 2 5

R
log(BR) 'y R-1 072
v(R-1) R R 2

B=—

Thus we can write A, A, B , and B as a function of R. Plugging what we know into the consumption equation
gives that

R—1 7§ (R —1)0? log(BR)

—Ar+B= _p+ L - .
o) = Az + R "R 2R? ~(R—1)
Permanent income  Precautionary savings Slope (?)

Using this expression and a market clearing condition, we could (in theory) pin down the equilibrium interest
rate. One way to do this is to consider the evolution of the agents’ cash-in-hand:

' = Ra(z) + v
=R[(1-A)z-B]+y

=x— RB+y
log(BR)  y(R—1)o®
—z+R — 7).

This is a random walk with innovations (y’ — §) and a drift:

log(8R) . 7(R—1)o®
(R —1) R

Drift

Ex' =2+ R

Note that if SR = 1, the drift is positive: cash-in-hand (and hence assets) diverge in expectation to positive
infinitity. In fact, assets must diverge in expectation (to positive or negative infinity) unless the drift term

equals zero, or
5 1 R*—1 02
= —ex — .
o\ TR ) 3

The right-hand side is decreasing in R, so no drift implies a unique value of R* with SR* < 1. It is
straightforward to consider comparative statics of this equilibrium interest rate in terms of 3, v, and o2.
One final note: this economy does not have a steady-state. The distribution of wealth follows a random
walk, which means that its unconditional variance increases without bound over time. We can think of this
as the gap between the richest and poorest agents—who, recall, are ex ante identical—growing endlessly.

27.2 Aiyagari (1994) model

Aiyagari’s model is similar in several respects to the CARA example given above. The following differences
are important:

e The distribution of shock realizations has bounded support. That means we can define a ymin and Ymax
with Pr(y € [Ymin, Ymax]) = 0.2 Because there is a “worst” shock, we can define a natural borrowing

28We will further insist that ymin and ymax be the highest and lowest values, respectively, for which Pr(y ¢ [ymm, Ymax]) = 0.
This can be written as requiring that for all ¢ > 0, Pr(y € [Ymin, Ymin + €]) > 0 and Pr(y € [Yymax — €, Ymax]) > 0
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constraint: an agent can never borrow so much that he can never repay her debt, even if she receives
the worst possible shock from now on; i.e., a(s’) > —¢, where

_ Ymin
9= R-1

e The agents’ coefficients of relative risk aversion must be bounded above. In our earlier example
consumers had CARA, which implied increasing relative risk aversion. The result was that as they got
richer, they saved an increasing fraction of their wealth. We were able to keep average asset holdings
bounded, but only for one particular value of R* < 1/8; by bounding the coefficient of relative risk
aversion, we can keep (expected) assets from growing arbitrarily for all R < 1/8. (This also relies on the
existence of an upper bound on possible shocks.)

The model can be more convenient to analyze when values are renormalized as follows in terms of the
borrowing constraint:

Original Renormalized
Assets a a=a+¢
Cash-in-hand T z=x+ ¢
Cash-in-hand evolution 2’ =Ra+vy 2 = Ra+ 7
Endowment y J= (R—1)o
Consumption c=r—a c=z—a

Although the endowment renormalization looks a bit strange, it takes a form implied by our definitions of a
and z, along with a desire for z to evolve similarly to how = does.
The representative consumer’s problem is characterized by the following functional equation:

V(z) = I}zlg())( [u(z —a) + BEV(Ra +7')],

=z

which implies the first-order condition
u'(c(2)) = BREV'(Ra(z) + 7).

If the borrowing constraint does not bind, this takes the form of our standard intereuler. When the borrowing
constraint does bind, the consumer would like to consume more (i.e., lower the left-hand side through ¢) and
save less (i.e., raise the right-hand side through a). We define (with apologies for the unfortunate notation
choice) 2 as the level of cash-in-hand at which the borrowing constraint barely binds.
If 2 < 2, the agent borrows up to the max, so a(z) = 0 and ¢(z) = z. If z > 2, the FOC holds with
equality:
u'(z — a) = BREV'(Ra + 7).

As we consider going from z up to Z > z, we would need a to increase the same amount to keep the left-hand
side constant. But this would lower the right-hand side somewhat; thus @ must increase less than one-for-one
with z.

28 Where we have been: a brief reminder
Broadly speaking, the material we have covered in the second half of the term (excluding our initial discussion

of optimal taxation) is focused on the the introduction of uncertainty to our models. There are dimensions
along which our discussions have varied:
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e Complete vs. incomplete markets. Under complete markets, agents can buy and sell a complete set
of contingent securities. We typically think of these securities as trading in a time-zero (Arrow-Debreu)
market, but this is mainly a mathematical convenience—we showed that there is an “equivalence”
between the allocations and prices that obtain at equilibrium in this market and in a sequence of
period-by-period markets. When agents have access to complete markets, they have the ability to
hedge all idiosyncratic shocks.?? We showed that they take advantage of this ability, so that individual
consumption can only depend on the history of the world through the history of aggregate shocks.

e Partial equilibrium vs. general equilibrium. We have considered two types of economies. The
first is small “open” economies, where trade takes place with foreigners; in these markets, asset prices
are exogenously set by the global market, and the openness of the market means economy-wide resource
constraints don’t have as much bite as in closed economies. In closed economies, the price of assets (and
notably, therefore, interest rates) are set to clear the asset markets given the economy-wide resource
constraint. That is, prices arise endogenously, through general equilibrium.

e Idiosyncratic risk only vs. aggregate risk. As discussed when complete markets are available,
there is a sense in which only aggregate shocks matter. However, when markets are imcomplete, both
idiosyncratic and aggregate shocks are important. We started by considering incomplete markets with
only idiosyncratic risk, and then introduced additional aggregate risk.

29 Agents may also be able to hedge aggregate risk if the economy is open or there is a storage technology.
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